MANATEE COUNTY GOVERNMENT SOURCE SELECTION

SUBJECT	Sod, Fertilizer, Herbicides, and Other Related Aquatic Chemicals	DATE POSTED	October 31, 2011 Date Posted on Mymanatee, org /// 4/// By:
PURCHASING REPRESENTATIVE	Chris Daley, 749-3048	DATE CONTRACT SHALL BE AWARDED	November <b>1</b> , 2011
DEPARTMENT	Various	CONSEQUENCES IF DEFERRED	No
SOURCE RECOMMENDATION	IFB #11-2981CD	AUTHORIZED BY DATE	Melissa Assha October 31, 2011

#### ACTION DESIRED

Authorization to award IFB #11-2981CD; Sod, Fertilizer, Herbicides, and Other Related Aquatic Chemicals, for purchase on an as required basis, to the lowest responsive, responsible multiple bidders meeting specifications for an estimated annual total of \$575,000.00:

Dieter's Sod Service, Inc., Bradenton, FL; Sunbelt Sod & Grading Co. Inc., Ruskin, FL; Pennington Seed, Madison, GA; Diamond R Fertilizer Co., Inc., Ft. Pierce, FL; John Deere Landscapes, Cleveland, OH; Harrell's LLC, Lakeland, FL; Helena Chemical, Dade City, FL; Southern Agricultural Insecticides, Rubonia, FL; Crop Production Services, Mulberry, FL; Agrium Advanced Technologies, Loveland CO; Red River Specialties, Inc., Branford, FL; AlliGare LLC, Opelika, AL; CWC Chemical, Inc., Cloverdale, VA

#### ENABLING/REGULATING AUTHORITY

Federal/State law(s), administrative ruling(s), Manatee County Comp Plan/Land Development Code, ordinances, resolutions, policy.)

Manatee County Purchasing Ordinance Chapter 2-26; Article IV, Source Selection; Section 2-26-40, Policies

#### BACKGROUND/DISCUSSION

- This annual contract provides for the procurement of sod, seed, fertilizers, herbicides, and other related aquatic chemicals by various departments, on an as required basis, for aquatic control of the stormwater system and landscaping maintenance performed by County staff.
- The procurement of these items is funded from various funding sources such as Transportation Trust Fund, General Fund, Utility Fund, Enterprise Fund, etc.., with various operating accounts for each Department.
- This contract is for a twelve (12) month period with two (2) twelve (12) month renewal periods not to exceed a total contract duration of thirty six (36) months. Price adjustments after the first contract period, may, upon the County's approval be adjusted in accordance with the Bureau of Labor Statistics Producers Price Index.
- Background/ discussion information continued on page 2.

#### SUMMARY

Recommend award of IFB #11-22981CD, Sod, Fertilizer, Herbicides, and Other Related Aquatic Chemicals, on an as required basis, to multiple bidders: Dieter's Sod Service, Inc., Bradenton, FL; Sunbelt Sod & Grading, Inc., Ruskin, FL; Pennington Seed, Madison, GA; Diamond R Fertilizer Co., Ft. Pierce, FL; John Deere landscapes, Cleveland, OH; Harrell's LLC, Lakeland FL; Helena Chemical, Dade City, FL; Southern Agricultural Insecticides, Rubonia, FL; Crop Production Services, Mulberry, FL; Agrium Advanced Technologies, Loveland CO; Red River Specialties, Inc., Branford, FL; AlliGare LLC, Opelika, FL; CWC Chemical, Inc., Cloverdale, VA.

ATTACHMENTS: (List in order as attached)	INSTRUCTIONS TO BOARD RECORDS:	
1)Bid Tabulation of all Bids 2)Award Tabulation Sheet	N/A	
<b>COST</b> \$575,000.00 (estimated)	SOURCE (ACCT# & NAME)	Various Sources & Operating Accounts
COMMENTS	AMT./FREQ. OF RECURRING COSTS (ATTACH FISCAL IMPACT STATEMENT)	N/A

- 9/22/2011 to 10/18/2011, appropriate bid procedures were followed. Notice of the Bid's availability was
  posted on the Manatee County website, as well as broadcast via Onvia DemandStar to two hundred
  twelve (212) prospective bidders. (14) Bids were received.
- Basis of award for IFB #08-2789CD, as stated in Article E.01 of the bid documents, is a line item by line item basis to the lowest responsive, responsible multiple bidders meeting specifications.
- It is the intent to place orders with the lowest priced bidder, who can provide the products at the time needed. Should the lowest priced bidder be unable to supply the products due to availability, a contingency plan has been established to contact the next lowest bidder.
- Four of the chemical items are Agency priced items, whereby the chemical manufacturer sets the selling price for all of their authorized distributors creating tie bids.
- All Agency priced items will be awarded to the multiple local vendors that bid them in accordance with the Basis of Award Article E.01 of the bid documents. Local business is defined as a business duly licensed and authorized to engage in the sale of goods and/or services to be procured, and which certifies within its bid that for at least six (6) months prior to the announcement of the solicitation of bids it has maintained a physical place of business in Manatee, Desoto, Hardee, Hillsborough, Pinellas or Sarasota County with at least one full time employee at that location.

SOE	IFB 11-2981CD D, FERTILIZER, HERBICIDES, and OTHER RE CHEMICALS		2315 Zip	Sod Service, perer Raod in, FL 34212	!	Sunbelt S 819 9th S Ruskin, F			Penningto 1280 Atlan Madison, (	nta HWY		Diamond R Fe 4100 Glades Ft. Pierce, FL		
TEM	PRODUCT NAME	TAINER IZE EST, QTY	. ALTERNATE	UNIT PRIC	EXTENDED PRICE	ALTERNATE	UNIT PRIC	E PRICE	ALTERNATE	UNIT PRICE	PRICE	ALTERNATE	UNIT PRICE	PRICE
ODS 1	BAHIA SOD		AND MEDICAL	193 DV/10	A CONTRACTOR OF THE PARTY OF TH	23040			S Carrier	ENTRE SALE	3 565	TO LOW HOUSE		
A	1-4 PALLETS (400 SF - 1,999 SF)					1 Pallet =	400 Square	Feet		NO BID			NO BID	
	a. DELIVERED AND SPOT PLACED	6,000 SF		\$0.16	/SF \$960.00		\$0.25	100	********		1			1
	b COUNTY PICK UP	800 SF		\$0.14	/SF \$112.00	<b>*******</b>	No Bid /	SF						
h-	C DELIVERED & INSTALLED (Pallet Sod)	4,000 SF		\$0.195	/SF \$780.00		\$0.30 //	SF \$1,200.00						
1	5-9 PALLETS (2,000 SF - 3,999 SF)									NO BID		T	NO BID	
	a. DELIVERED AND SPOT PLACED	5,600 SF		\$0.155	SF \$868.00		\$0.20 /	SF \$1,120.00			4	<b>1</b> 1		1
	b DELIVERED & INSTALLED (Pallet Sod)	7,600 SF		\$0,175	/SF \$1,330.00	·	\$0.25 /	THE RESERVE THE PERSON NAMED IN COLUMN 2 I						
	C SLOPE DELIVERY & INSTALLATION (Pallet Sod)	1,800 SF		\$0.185	SF \$333.00		\$0.26	SF \$468.00						
С	10-24 PALLETS (4,000 SF - 9,999 SF)		<b>******</b>			1			8	NO BID	1		NO BID	.,
	a. DELIVERED AND SPOT PLACED	4,000 SF		\$0.15	SF \$600.00		\$0.18 /	SF \$720.00	~		1	4		<b>4</b>
	b DELIVERED & INSTALLED (Pallet Sod)	8,000 SF		\$0.175	SF \$1,400.00		\$0.18 /	SF \$1,440.00						
	C SLOPE DELIVERY & INSTALLATION (Pallet Sod)	12,500 SF		\$0,185	SF \$2,312.50		\$0.18 //	\$2,250,00						
D	25 PALLETS OR MORE (10,000 SF OR MORE)								8	NO BID	***************************************	1	NO BID	1
	a. DELIVERED & INSTALLED (Pallet Sod)	225,000 SF		\$0.165	SF \$37,125.00		\$0.18 /	SF \$40,500.00	1		1		NO BID	1
	b SLOPE DELIVERY & INSTALLATION (Pallet Sod)	400,000 SF		\$0.175	SF \$70,000.00		\$0.175 //	SF \$70,000.00						
2	ST. AUGUSTINE- FLORATAM				. 1 4/4/104/104		44.110	1 470,000.00			4	•		4
Α	1-4 PALLETS (400 SF - 1,999 SF)					1 Pallet =	400 Square	Feet		NO BID			NO BID	
	a. DELIVERED AND SPOT PLACED	7,600 SF		\$0.32	SF \$2.432.00		\$0.30 /5	\$2,280.00						
	b COUNTY PICK UP	800 SF	-		SF \$220.00		No Bid /5	500000000000000000000000000000000000000						
	C DELIVERED & INSTALLED (Pallet Sod)	3,200 SF			SF \$1,280.00		\$0.35 /	****	1					•
h. I	d SLOPE DELIVERY & INSTALLATION (Pallet Sod)	250 SF		\$0.41	SF \$102.50		\$0.37 /5	SF \$92.50	1					
В	5-9 PALLETS (2,000 SF - 3,999 SF)									NO BID	100000000000000000000000000000000000000		NO BID	4
- 1	a. DELIVERED AND SPOT PLACED	2,500 SF		\$0.32	SF \$800.00		\$0.30 /5	\$750.00	0					1
- 1	b DELIVERED & INSTALLED (Pallet Sod)	4,800 SF	********		SF \$1,920.00		\$0.35 /5			•••••		•		1

-	IFB 11-2981CD D, FERTILIZER, HERBICIDES, and OTHI CHEMICALS	ER RELATE	D AQUATIC	Dieter's S 2315 Zipp Bradentor	perer Raox	ď	EXTENDED	Sunbelt S 819 9th S Ruskin, F	treet NE			Penningto 1280 Atla Madison,	nta HWY	0		Diamond R F 4100 Glades Ft. Pierce, Fl	Cutoff Ros		
ITEM		SIZE	EST. QTY.	ALTERNATE	UNIT PR	RICE	PRICE	ALTERNATE	UNIT F	RICE	PRICE	ALTERNATE	UNIT	PRICE	PRICE	ALTERNATE	UNIT F	RICE	PRICE
3	419 BERMUDA SOD																		
Α	1-4 PALLETS (400 SF - 1,999 SF)							1 Pallet = 1 Roll = 3			2		N	O BID			NO	BID	
	a. DELIVERED AND SPOT PLACED		500 SF		\$0.32	/SF	\$160.00		\$0.30	/SF	\$150.00				<b>!</b>				1
	b COUNTY PICK UP		800 SF	<b>**********</b>	\$0.275	/SF	\$220.00	<b>********</b>	No Bid	/SF		<b>******</b>	<b>*******</b>						
ь.	C DELIVERED & INSTALLED (Pallet Sod)		1,600 SF		\$0.41	/SF	\$656.00	<b>*********</b>	\$0,35	/SF	\$560.00	<b> </b>							
	d ROLLED SOD- DELIVERED & INSTALLED		200 SF	***************************************	\$0,43	/SF	\$86.00	*********	\$0.35	/SF	\$70.00								
В	5-9 PALLETS (2,000 SF - 3,999 SF)			<b></b>									NO	BID			NO	RID	3,0000000000000000000000000000000000000
	C DELIVERED & INSTALLED (Pallet Sod)		8,000 SF		\$0.41	/SF	\$3,280.00		\$0.35	/SF	\$2,800.00	*****		*****			1		3 0000000000000000000000000000000000000
	d ROLLED SOD- DELIVERED & INSTALLED		4,000 SF	***************************************	\$0,43	/SF	\$1,720.00			/SF	\$1,400,00								<del> </del>
С	10-24 PALLETS (4,000 SF - 9,999 SF)			9000000000	88888888	****	***************************************	******		****	**********		NO	BID			NO	BID	4
	a DELIVERED & INSTALLED (Pallet Sod)		12,000 SF		\$0,39	/SF	\$4,680.00	<b></b>	\$0.31	/SF	\$3,720.00					***************************************			1
	b ROLLED SOD- DELIVERED & INSTALLED		4,000 SF		\$0.41	/SF	\$1,640.00		\$0.31	/SF	\$1,240.00				**************				
D	25 PALLETS OR MORE (10,000 SF OR MORE)												NIC	BID					
	a DELIVERED & INSTALLED (Pallet Sod)		38,000 SF		\$0.37	/SF	\$14,060.00		\$0.31	/SF	\$11,780.00		N.	BID			NO	BID	1
	b ROLLED SOD- DELIVERED & INSTALLED	***********	1,000 SF	*******	\$0.39	/SF	\$390.00		\$0.31	/SF	\$310.00								
4	STAKE/STAPLES (INSTALLED BY VEN	IDOR)									***************************************		NC	BID			NO	RID	
	a STAPLES (COUNTY SUPPLIED)	Į.	1 EA	<b>*******</b>		/EA	\$0.04	***************************************	\$0.02	/SF	\$0.02	***************************************	<b></b>			**********			
	b STAPLES (VENDOR SUPPLIED) S & MULCH		10,000 SF	**********	\$0.07	/SF	\$700.00	s	\$0.04	/SF	\$400.00	***************************************	***************************************	*****	***************************************	************			
ELD.		STATE OF THE PARTY.	A STATE OF THE STA	Charles of			THE ALL	SERVE	57480	行の自		135507		4531.13		200		3377	CONTRACT OF A
	NON GOLF COURSE SEED (50 POUND BAGS)  a. PENSACOLA BAHIA SEED	50 IB		************	NO	BID			NC	BID									
į.	b. RYE GRASS (OCT THRU MARCH)	50 IB	400 Bag 340 Bag										\$112.00				\$117.50	/BAG	\$47,000.00
	c. BROWN TOP MILLET (APRIL THRU SEPT.)	50 18	340 Bag							- 3		<del></del>	\$25.00	/BAG			\$24.80	/BAG	\$8,432.00
	d. BERMUDA SEED (HULLED)	50 18	500 Bag									-	\$25.00 \$210.00	1.00	\$8,500.00 \$105,000.00		\$26.80 \$187.50	/BAG	\$9,112.00
	MULCH (50 POUND BAGS)				NO	BID			NO	BID		**********	\$210,00	/BAG	\$105,000.00	***********	\$187.50	/BAG	\$93,750.00
	a. CYPRESS MULCH (Grade "A")		500 Bag				*********	**************************************			<b>***********</b>		NC	BID		************	NO I	SID.	
	b. PREMIUM SHREDDED CYPRESS		400 Bag	**************************************	*****	***								BID			NO		
	c MALALUAKA MULCH- FLORAMULCH *		500 Bag										NO	BID			NO I		
	CELLULOSE MULCH(FOR HYDRO SEEDING), d 60% PAPER, 40% WOOD FIBER (50 LB BALES)	50 IB	300 Bag									70 Paper / 30 Wood	\$11.80	/BAG	\$3,540.00	70 Paper / 30 Wood	\$16.50	/BAG	\$4,950.00

	IABOLATIO	• •		-												
soi	IFB 11-2981CD D, FERTILIZER, HERBICIDES, and OTHE CHEMICALS			2315 Zipp	od Service, Inc erer Raod n, FL 34212		Sunbelt So 819 9th St Ruskin, FL	The state of the s	Co. Inc.	Penningtor 1280 Atlan Madison, G	ta HWY		Diamond R I 4100 Glades Ft. Pierce, F	Cutoff Roa		
ITEM	PRODUCT NAME	CONTAINER SIZE	EST. QTY.	AI TERNATE	UNIT PRICE	PRICE	ALTERNATE	UNIT PRICE	PRICE			EXTENDED				EXTENDED
FERT	ILIZERS	112 50 0		Par I de la constitución de la c	ON PRICE	THE PARTY AND	ALTERNATE	UNIT PRICE	PRICE	ALTERNATE	UNIT PRICE	PRICE	ALTERNATE	UNIT P	RICE	PRICE
1	6-2-16 FERTILIZER, w/ Slow Release Nitrogen (NO SUBSTITUTIONS)	BAGS	30,000 LB		NO BID			NO BID			NO BID			\$0.33	I A B	\$10,080
2	15-0-15 FERTILIZER W/ .67% RONSTAR AND SLOW RELEASE NITROGEN (NO SUBSTITUTIONS)	BAGS	20,000 LB		NO BID			NO BID			NO BID					
HERB	ICIDES/ ALGICIDES		and the second	770000	COLV. T. SA	artist in se	20.550	ITO DID	ACCUPATION OF	Sec. 17 (1) (1)	NO BID	P/16-200 (01)	***************************************	\$0.79	II /LB	\$15,820
D.	VETERAN 720	2.5 gal	2 EA		NO BID			NO BID	THE RESERVE TO SERVE	-	NO BID		The Contract of	NO Bid		
1	ISOPROPYLAMINE SALT OF GLYPHOSATE	2.5 gal	24 EA		NO BID			NO BID			\$20.00 /EA	\$480.00	Glystar Pro	\$24.50	ÆA	\$588.
	ROUNDUP PRO	2.5 gal	200 EA		NO BID			NO BID			NO BID		Glystar Pro	\$24.50	/EA	\$4,900.
	a. WEEDAR 64 (AQUATIC LABEL) (NO SUBS)	2.5 gal	15 EA		NO BID			NO BID			NO BID		CONTRACTOR OF THE CONTRACTOR O	NO Bid	/LA	94,500
	b. WEEDAR 64 (AQUATIC LABEL) (NO SUBS)	30 gal	10 EA		NO BID			NO BID			NO BID			NO Bid	******	
	a. RODEO, AQUA CLEAR b. RODEO, AQUA CLEAR (RETURNABLE	2.5 gai	10 EA		NO BID			NO BID			NO BID	10:	Aquastar	\$37.00	/EA	\$370
	CONTAINER)	30 gai	50 EA		NO BID			NO BID			NO BID		Aquastar	\$426.00	/EA	\$21,300
	SONAR Q (NO SUBSITUTITIONS)	40 lb	30 EA		NO BID			NO BID			NO BID	-	Udnagras	NO Bid	/EA	\$21,300
E	SONAR (A.S) (NO SUBSTITUTIONS)	1 gai	5 GL		NO BID			NO BID			NO BID			NO Bid		
	SILKEN, KINETIC	1 gai	150 GL		NO BID			NO BID			NO BID		Sittrate	\$38.80	/EA	#F #00
	SENCOR 75 TURF (NO SUBSTITUTIONS)	5 lb	4 EA		NO BID			NO BID		_	NO BID		Sittrate	NO Bid	/EA	\$5,820
0	MEC AMINE-D	2.5 gal	20 EA		NO BID			NO BID			NO BID		·····	-		
1	a. TRAN XIT GTA (NO SUBSTITUTIONS)	3 oz	10 EA		NO BID			NO BID		_	NO BID		Weedar 64	\$36.40 NO Bid	/EA	\$728
	b. TRAN XIT GTA (NO SUBSTITUTIONS)	15 oz	2 EA		NO BID			NO BID			NO BID					
2	MONUMENT 75WG (NO SUBSTITUTIONS)	5x5 gram	12 EA		NO BID			NO BID			NO BID			NO Bid		
3	GARLON 4 (GENERICS ALLOWED)	2.5 gal	12 EA		NO BID			NO BID			NO BID		Element 4	\$130.50	/EA	\$1,566.0
	A GARLON 3A (GENERICS ALLOWED)	2.5 gal	250 EA		NO BID			NO BID			NO BID				7.000.00	
	B GARLON 3A (GENERICS ALLOWED)	30 GAL	20 EA		NO BID			NO BID			NO BID		Element 3	\$145.75		\$36,437.5
5	PLATEAU (NO SUBSTITUTIONS)	2.5 gal	100 EA		NO BID			NO BID			NO BID		Element 3	\$1,749.00	/EA	\$34,980.0
	MILESTONE VM (NO SUBSTITUTIONS)	2.5 gal	40 EA		NO BID			NO BID						NO Bid		
IGI	CIDES	0.540.53	1104-1100	15 4 2 A L	the Lab	Accompany	CFF SQLEET	NO BID	all varieties	Security Park	NO BID		***************************************	NO Bid		
	ALIETTE WDG (GENERICS ALLOWED)	5.5 lb	5 EA		NO BID			NO BID		Construction Tubers	NO BID		P. C. C. C.	\$103.40	/E A	\$517.0

SOE	IFB 11-2981CD D, FERTILIZER, HERBICIDES, and OTH CHEMICALS			2315 Zipp	od Service, Ind erer Raod 1, FL 34212		Sunbelt So 819 9th St Ruskin, Fl		Co. Inc.	Pennington 1280 Atlant Madison, G	a HWY		Diamond R Fr 4100 Glades Ft. Pierce, FL	Cutoff Ros		
ITEM	PRODUCT NAME	CONTAINER SIZE	EST, QTY.	ALTERNATE	UNIT PRICE	PRICE	ALTERNATE	UNIT PRICE	PRICE		LINET PRIOR	EXTENDED				EXTENDED
INSEC	TICIDES			N. 100 CO.	0.75	SC 1-27 1975 - 27	PETERIPATE	ONIT PRICE	PRICE	ALTERNATE	UNIT PRICE	PRICE	ALTERNATE	UNIT	RICE	PRICE
1	ORTHENE	10 lb	10 EA		NO BID		-	NO BID	PARTITION AND ADDRESS.	100000000000000000000000000000000000000	NO BID		SCHOOL STREET		1160	Deline Say
2	a. AMDRO 118 (NO SUBSTITUTIONS)	1 lb	10 LB		NO BID		_	NO BID		lossossor		****		\$59.00	/EA	\$590.0
	b. AMDRO 25LB (NO SUBSTITUTIONS)	25 lb	20 EA		NO BID		_	NO BID			\$11.20 /Lb	\$112.00		NO Bid	*****	
3	TOPCHOICE (NO SUBSTITUTIONS)	50 lb	100 EA	_	NO BID		_	NO BID		**************	\$175.00 /EA	\$3,500.00	<b>*************************************</b>	NO Bid	*****	
	TALSTAR F			-						_	NO BID		***************************************	NO Bid	******	
TO C		1 gal	40 GL		NO BID			NO BID			NO BID		Upstar Gold	\$28.90	/GL	\$1,156.00
	ALOFT LC SC (NO SUBSTITUTIONS)	64 oz	20 EA		NO BID			NO BID			NO BID		888888888888888888888888888888888888888	\$496.00	/EA	\$9,920.00
יייייייי	ANTS & ADDITIVES	AND LESS OF	Yellow and	FIRM SEE	(6)		(2) to 10.00	THE REAL PROPERTY.	1572 313	6-28-5-00	57 (F. 231 (Minis	ACEP AND EDIT	10.50 N/S	4430.00	100	\$5,520.00
1	DEFOAMER	1 quart	120 quart		NO BID			NO BID			NO BID			\$8.20	/QT	\$984.00
2	LOVELAND X-77 SPREADER	1 gal	500 GL		NO BID			NO BID							****	\$3,04.00
	PROMATE ACCURACY, WINDBRAKE, AIRTIGHT (NO SUBSTITUTIONS)	1 quart	2,000 quart		NO BID			NO BID			NO BID			NO Bid \$8.90	/QT	\$17,800.00

son	IFB 11-2981CD ), FERTILIZER, HERBICIDES, and OTHEI CHEMICALS			1385 East	e Landscapes 36th Street OH 44114		Harrell's LLC 720 Kraft Roa Lakeland, FL	ad		Helena Chen P.O. Box 175 Dade City, Fl	8	
TEM	PRODUCT NAME	CONTAINER SIZE	EST. QTY.	ALTERNATE	UNIT PRICE	PRICE	ALTERNATE	UNIT PRICE	PRICE	ALTERNATE	UNIT PRICE	PRICE
ODS		27-10-1	100	2000	FUER MILES	PART TAY	200			B10000000		AND LEEP
0 1	BAHIA SOD											
	1-4 PALLETS (400 SF - 1,999 SF)				NO BID	•		NO BID			NO BID	
	DELIVERED AND SPOT PLACED		6,000 SF									
- 1	b COUNTY PICK UP c DELIVERED & INSTALLED (Pallet Sod)		800 SF 4,000 SF					*********				
100			4,000 SF	***************************************								
	5-9 PALLETS (2,000 SF - 3,999 SF)  a. DELIVERED AND SPOT PLACED			0000000004	NO BID	<b>K</b> 000000000000000000000000000000000000	La	NO BID			NO BID	
	b DELIVERED & INSTALLED (Pallet Sod)		5,600 SF 7,600 SF						4			
- 1	C SLOPE DELIVERY & INSTALLATION (Pallet Sod)											
	10-24 PALLETS (4,000 SF - 9,999 SF)		1,800 SF		NO BID							
	a. DELIVERED AND SPOT PLACED		4,000 SF	***********	NO BID	<b>(</b> 000000000000000000000000000000000000		NO BID	4:00000000000		NO BID	*****
- 1	b DELIVERED & INSTALLED (Pallet Sod)		8,000 SF	<b>*********</b>								
	C SLOPE DELIVERY & INSTALLATION (Pallet Sod)		12.500 SF									
D	25 PALLETS OR MORE (10,000 SF OR MORE)				NO BID	•••••	**************			***********		
	a. DELIVERED & INSTALLED (Pallet Sod)		225,000 SF		NO BID	***************************************	***************************************	NO BID		*************	NO BID	
- 1	b SLOPE DELIVERY & INSTALLATION (Pallet Sod)										• • • • • • • • • • • • • • • • • • • •	
	ST. AUGUSTINE- FLORATAM		400,000 SF	**************************************								
	1-4 PALLETS (400 SF - 1,999 SF)			_	NO BID							
			************		W BID			NO BID	¥0000000000000000000000000000000000000	<b></b>	NO BID	<b>4</b> 000000000000000
- 1.	a. DELIVERED AND SPOT PLACED		7,600 SF									
- 1	DELIVERED & INSTALLED (Pallet Sod)		800 SF									
. [			3,200 SF									***************************************
1	d SLOPE DELIVERY & INSTALLATION (Pallet Sod)		250 SF									
B	5-9 PALLETS (2,000 SF - 3,999 SF)				NO BID			NO BID			NO BID	
	DELIVERED AND SPOT PLACED		2,500 SF									
t	DELIVERED & INSTALLED (Pallet Sod)		4,800 SF									

	INDULATION	J. (												
sor	IFB 11-2981CD D, FERTILIZER, HERBICIDES, and OTH CHEMICALS			1385 Eas	re Landsca t 36th Stree i, OH 44114	t		Harrell's LL0 720 Kraft Ro Lakeland, F	oad			Helena Cher P.O. Box 175 Dade City, F	58	
ITEM	PRODUCT NAME	CONTAINER SIZE	EST. QTY.	ALTERNATE	UNIT	PRICE	PRICE	ALTERNATE	UNIT P	RICE	EXTENDED PRICE	ALTERNATE	UNIT PRICE	EXTENDE PRICE
-	419 DERMUDA SOD								5.417	THIS	111100	ALTERNATE	UNIT PRICE	PRICE
А	1-4 PALLETS (400 SF - 1,999 SF)				N(	BID	-4		NO	BID			NO BID	
	DELIVERED AND SPOT PLACED     COUNTY PICK UP		500 SF		<b></b>		4	<b>.</b>						
			800 SF		<b></b>		4							
	C DELIVERED & INSTALLED (Pallet Sod)  d ROLLED SOD- DELIVERED & INSTALLED		1,600 SF											
В	5-9 PALLETS (2,000 SF - 3,999 SF)	*********	200 SF	*************	<u></u>	<u></u>	<b>:</b>							
	C DELIVERED & INSTALLED (Pallet Sod) d ROLLED SOD- DELIVERED & INSTALLED		8,000 SF		, NC	BID			NO	BID			NO BID	
	10-24 PALLETS (4,000 SF - 9,999 SF)		4,000 SF	BXXXXXXX	N/A	BID	4							
- 1	a DELIVERED & INSTALLED (Pallet Sod)		12.000 SF	***********	l	DID	8 90000000000	***************************************	NO	BID		000000000000000000000000000000000000000	NO BID	
	b ROLLED SOD- DELIVERED & INSTALLED		4.000 SF											ļ
	25 PALLETS OR MORE (10,000 SF OR MORE)				NO	BID	4		NO	BID			NO BID	
	DELIVERED & INSTALLED (Pallet Sod)     ROLLED SOD- DELIVERED & INSTALLED		38,000 SF					<b>*******</b>		*****				1
$\overline{}$	STAKE/STAPLES (INSTALLED BY VE	WDOD!	1,000 SF	***********	XXXXXXX			**************************************			<b>***********</b>	<b>*******</b> &		
	B STAPLES (COUNTY SUPPLIED)	NDOK)	1 EA	***************************************	NO	BID	3 1000000000000000000000000000000000000		NO	BID			NO BID	
	b STAPLES (VENDOR SUPPLIED)		10,000 SF										•	
$\overline{}$	& MULCH	A PROPERTY.		S 144 13 5		56878			************				***************************************	100000000000000000000000000000000000000
	NON GOLF COURSE SEED (50 POUND BAGS B. PENSACOLA BAHIA SEED	50 IB	400 Bag		\$142.50	/BAG	\$57,000.00		NO Bid	/BAG	No Bid	::::::::::::::::::::::::::::::::::::::	NO BID	h
ŀ	b. RYE GRASS (OCT THRU MARCH)	50 18	340 Bag		\$29.00	/BAG	\$9,860.00		\$50.00	/BAG	\$17,000.00	<u>l</u>		L
- 4	. BROWN TOP MILLET (APRIL THRU SEPT.)	50 18	340 Bag		\$44.50	/BAG	\$15,130.00		NO Bid	/BAG	No Bid	1		
$\overline{}$	f. BERMUDA SEED (HULLED)	50 IB	500 Bag		\$230.00	/BAG	\$115,000.00		NO Bid	/BAG	No Bid			
	MULCH (50 POUND BAGS)  L CYPRESS MULCH (Grade "A")	ī i							NO E	BID			NO BID	
	PREMIUM SHREDDED CYPRESS	+	500 Bag 400 Bag	3 cf /bag	\$5.50	/BAG BID	\$2,750.00	<b>*************************************</b>			***************************************	<b>*******</b>	***********	*********
	MALALUAKA MULCH-FLORAMULCH *		500 Bag			BID								
d	CELLULOSE MULCH(FOR HYDRO SEEDING), 60% PAPER, 40% WOOD FIBER (50 LB BALES)	50 IB	300 Bag		NO									

so	IFB 11-2981CD D, FERTILIZER, HERBICIDES, and OTHE CHEMICALS		ED AQUATIC	1385 East	re Landscape 36th Street OH 44114	es		Harrell's LLC 720 Kraft Ro Lakeland, FL	ad			Helena Ch P.O. Box 1 Dade City,	758		
ITEM	PRODUCT NAME	CONTAINER SIZE	EST, QTY.	ALTERNATE	UNIT PR	NCE	PRICE	ALTERNATE	UNIT PE	uce	PRICE	0.0000000000000000000000000000000000000			PRICE
FERT	ILIZERS		Carle Patrice	To Sand Sand	District of the last	NO.		ALTERNATE	UNITER	VICE.	PRICE	ALTERNATE	UNIT P	RICE	PRICE
1	6-2-16 FERTILIZER, w/ Slow Release Nitrogen (NO SUBSTITUTIONS) 15-0-15 FERTILIZER W/ 67% RONSTAR AND SLOW RELEASE NITROGEN (NO	BAGS	30,000 LB		\$0.456	ЛB	\$13,680.00		\$0,417	/LВ	\$12,510.00		NO	BID	
2	SUBSTITUTIONS)	BAGS	20,000 LB		\$0.964	/LB	\$19,280.00		\$0.750	// B	\$15,000.00		NO	BID	
HERE	BICIDES/ ALGICIDES			1107785748	C/4168277	BERSE	Selver State (Selection	design to the second	No. of Contract of	PHO S	415,000.00	ICHEU PER	NO.	BIU	NAME OF TAXABLE PARTY.
100-	VETERAN 720	2.5 gal	2 EA		NO Bid	888888	888888888888888888888888888888888888888		NO Bid	*****	800000000000000000000000000000000000000		\$67.50	/EA	\$135.00
37	ISOPROPYLAMINE SALT OF GLYPHOSATE	2.5 gal	24 EA		\$54.74	/EA	\$1,313.76	Glyfos Pro	\$33.50	/EA	\$804.00	Ranger Pro	\$27.50	/EA	\$660.00
3	ROUNDUP PRO	2.5 gal	200 EA		NO Bid			Glyfos Pro	\$33,50	/EA	\$6,700.00	Ranger Pro	\$27.50	/EA	\$5,500.00
4	a. WEEDAR 64 (AQUATIC LABEL) (NO SUBS)	2.5 gai	15 EA	*********	NO Bid			***********	NO Bid	*******	00,700.00	COMMON THO	\$34.75	/EA	\$521.25
	b. WEEDAR 64 (AQUATIC LABEL) (NO SUBS)	30 gal	10 EA	<b>*************************************</b>	NO Bid				NO Bid	****		**********	\$414.00	/EA	\$4,140.00
5	a. RODEO, AQUA CLEAR	2.5 gal	10 EA	Aquaneat	\$54.26	/EA	\$542,60		NO Bid			Rodeo	\$29,37	/EA	\$293.70
	b. RODEO, AQUA CLEAR (RETURNABLE CONTAINER)	30 gal	50 EA	Aquaneat	\$584.07	/EA	\$29,203.50		NO Bid			Rodeo	\$352.50	/EA	\$17,625.00
6	SONAR Q (NO SUBSITUTITIONS)	40 lb	30 EA	***************************************	NO Bid	*****	***************************************	************	NO Bid		***************************************	************	\$998.00	/EA	\$29,940,00
7	SONAR (A.S) (NO SUBSTITUTIONS)	1 gai	5 GL		NO Bid				NO Bid				\$1,698.00		\$8,490.00
8	SILKEN, KINETIC	1 gal	150 GL		NO Bid			Sécrane Surfactant	\$67.00	/EA	\$10,050.00	Silnet 200	\$32.88	/GL	\$4,932,00
9	SENCOR 75 TURF (NO SUBSTITUTIONS)	5 lb	4 EA	<b>*************************************</b>	\$573.68	/EA	\$2,294.72	***************************************	\$375.00	/EA	\$1,500.00	***********	\$339.50	/EA	\$1,358.00
10	MEC AMINE-D	2.5 gal	20 EA		NO Bid				NO Bid	****	***************************************		NO Bid	2000000	
11	a. TRAN XIT GTA (NO SUBSTITUTIONS)	3 oz	10 EA	5 oz size	\$481.07	/EA	\$4,810.70	5 oz onty	\$385.00	/EA	\$3.850.00	Saz	\$330.00	/EA	\$3,300.00
	b. TRAN XIT GTA (NO SUBSTITUTIONS)	15 oz	2 EA		NO Bid	<b>****</b>	***************************************	8 oz only	\$385.00	/EA	\$2,310.00		\$990,00	/EA	\$1,980.00
12	MONUMENT 75WG (NO SUBSTITUTIONS)	5x5 gram	12 EA		\$240.00	/Box	\$2,880.00		\$240.00	/EA	\$2,880.00	***************************************	\$240.00	/EA	\$2,880.00
13	GARLON 4 (GENERICS ALLOWED)	2.5 gal	12 EA		\$324.46	/EA	\$3,893,52		\$255.00	/EA	\$3,060.00	Element 4	\$121.25	/EA	\$1,455.00
14	A GARLON 3A (GENERICS ALLOWED)	2.5 gal	250 EA		\$255.76	/EA	\$63,940.00		\$198.00	/EA	\$49,500.00	Element 3A	\$105.00	/EA	\$26,250,00
	B GARLON 3A (GENERICS ALLOWED)	30 GAL	20 EA		NO Bid	WXX	*************		NO Bid	x			\$1,260,00		-
15	PLATEAU (NO SUBSTITUTIONS)	2.5 gal	100 EA		NO Bid			***************************************	NO Bid			Element 3A	\$1,260.00	/EA	\$25,200.00 \$14,720.00
	MILESTONE VM (NO SUBSTITUTIONS)	2.5 gal	40 EA		\$1,244.84	/EA	\$49,793.60		NO Bid				\$749.32	/EA	\$14,720.00
_ NG	CIDES	State 1		<b>医</b> 异构 图页	(A.S. C.)	III Med			10000	1	MENTERS TO THE	APER DES	\$1000 BUES	Carrieros.	(Carrent Co.
	ALIETTE WDG (GENERICS ALLOWED)	5.5 lb	5 EA	5 lb bag	\$190.91	/EA	\$954.55	Chipco Signature	\$140.00	/EA	\$700.00	5 lb bag	\$114,50	/EA	\$572,50

sor	IFB 11-2981CD D. FERTILIZER, HERBICIDES, and OTH CHEMICALS		D AQUATIC		e Landscap 36th Street OH 44114			Harrell's LLC 720 Kraft Ro Lakeland, FL	ad			Helena Che P.O. Box 17 Dade City, F	58		
ITEM	PRODUCT NAME	CONTAINER SIZE	EST. QTY.	ALTERNATE	UNIT P	RICE	PRICE	ALTERNATE	UNIT P	DICE	PRICE				EXTENDED
INSEC	TICIDES		e Svett se pr	(28) (a) (b)	- ERAN	10 LOSE	Market Market St.	THE PROPERTY OF	ONLY	MICE	PRICE	ALTERNATE	UNIT P	RICE	PRICE
1	ORTHENE	10 lb	10 EA	5 lb bag	\$47.06	/EA	\$941.20	Acephate 97	\$67.50	/EA	\$675.00	Acephate 97	\$91.00	/EA	\$910.00
2	a. AMDRO 1LB (NO SUBSTITUTIONS)	1 (b	10 LB	300000000000000000000000000000000000000	NO Bid	******	**********	**********	\$11.00	/EA	\$110.00	3333333333	NO Bid	/CA	\$510.00
	b. AMDRO 25L8 (NO SUBSTITUTIONS)	25 lb	20 EA	***************************************	NO Bid	*******		************	\$224.00	/EA	\$4,480.00	***************************************	\$198.00	/EA	60.000.00
3	TOPCHOICE (NO SUBSTITUTIONS)	50 lb	100 EA		\$162.50	/EA	\$16,250.00		\$162.50	/EA	\$16,250.00		\$162.50	/EA	\$3,960.00 \$16,250.00
h	TALSTAR F	1 gal	40 GL		\$36.87	/GL	\$1,474.80		\$37.00	/EA	\$1,480.00	Taistar Professional	\$39.00	/GL	\$1,560.00
100	ALOFT LC SC (NO SUBSTITUTIONS)	64 oz	20 EA	888888888888888888888888888888888888888	\$496.00	/EA	\$9,920.00	***************************************	\$590.00	/EA	\$11,800.00	8888888888			-
ADJU\	VANTS & ADDITIVES	COLUMN TO .		35 (Dr. 37 (pr.)		Antest C	40,020,00	000000000000000000000000000000000000000	4000.00	/LA	\$11,000,00	***************************************	\$465.60	/EA	\$9,312.00
1	DEFOAMER	1 quart	120 quart	Anitfoam	\$4.81	/PT	\$1,154.40	Harrolls Defoamer	\$13.00	/QT	\$1,560.00	Foambuster	\$9.98	/QT	\$1,197.60
	LOVELAND X-77 SPREADER	1 gai	500 GL	Spreader Sticker	\$37.09	/GL	\$18,545,00	nonionic sufactant	\$135.00	/GL		DL2 - 2.5 gal size	\$30.00	/Gal	
	PROMATE ACCURACY, WINDBRAKE, AIRTIGHT (NO SUBSTITUTIONS)	1 quart	2,000 quart		NO Bid				NO Bid		20,,000,00		\$9.18	/Qt	\$15,000.00 \$18,360.00

SOE	IFB 11-2981CD ), FERTILIZER, HERBICIDES, and OTHEF CHEMICALS	R RELATI		Southern Ag 7400 Baysho Rubonia, FL			Crop Producti 2100 Moores Mulberry, FL 3	Lane		Agrium Advar 2915 Rocky M Loveland, CO	nced Technologie Mountain Ave, #4 80538	es 00
TEM	PRODUCT NAME	SIZE	EST. QTY.	ALTERNATE	UNIT PRICE	PRICE	ALTERNATE	UNIT PRICE	PRICE	ALTERNATE	UNIT PRICE	PRICE
SODS			W. 1983) 2.244				150000 NO.	District Chicago	EXPRESS OF DAY	ALTERNATE	UNIT PRICE	PARE
1	BAHIA SOD									•		100000000000000000000000000000000000000
Α	1-4 PALLETS (400 SF - 1,999 SF)				NO BID			NO BID			NO DID	
	a. DELIVERED AND SPOT PLACED		6,000 SF						<b>1</b>	ł	NO BID	4000000
	b COUNTY PICK UP		800 SF	<b>*************************************</b>						<del>                                     </del>		
-	C DELIVERED & INSTALLED (Pallet Sod)		4,000 SF							l d	<del></del>	
3	5-9 PALLETS (2,000 SF - 3,999 SF)				NO BID			NO BID		***************************************		1
	a. DELIVERED AND SPOT PLACED		5,600 SF			4	E		ł:::::::::::::::::::::::::::::::::::::		NO BID	<b>\$</b>
	b DELIVERED & INSTALLED (Pallet Sod)		7,600 SF	***************************************							•••••	
	C SLOPE DELIVERY & INSTALLATION (Pallet Sod)		1,800 SF									
С	10-24 PALLETS (4,000 SF - 9,999 SF)				NO BID	<u> </u>		NO BID				
	a. DELIVERED AND SPOT PLACED		4,000 SF		**********	4000000000	**************************************	NO BID	ł.		NO BID	<b>4</b> 0000000000
	b DELIVERED & INSTALLED (Pallet Sod)		8,000 SF	<b>***********</b>								
	c SLOPE DELIVERY & INSTALLATION (Pallet Sod)		12.500 SF									
	25 PALLETS OR MORE (10,000 SF OR MORE)		************		***************************************	s						
	a. DELIVERED & INSTALLED (Pallet Sod)	- 1		***************************************	NO BID			NO BID			NO BID	
- 1			225,000 SF									
-	b SLOPE DELIVERY & INSTALLATION (Pallet Sod)		400,000 SF									
2	ST. AUGUSTINE- FLORATAM											
A	1-4 PALLETS (400 SF - 1,999 SF)				NO BID			NO BID			NO BID	
	a. DELIVERED AND SPOT PLACED		7,600 SF							<b></b>		<b>!</b>
- 1	COUNTY PICK UP		800 SF									
- 1	DELIVERED & INSTALLED (Pallet Sod)		3,200 SF									
M.	4 SLODE DELIVERY E (METALLATION III											
	SLOPE DELIVERY & INSTALLATION (Pallet Sod)		250 SF									
B	-9 PALLETS (2,000 SF - 3,999 SF)			alisaannan an	NO BID			NO BID		S. / -	NO BID	
- 1.	DELIVERED AND SPOT PLACED		2,500 SF							1		
	DELIVERED & INSTALLED (Pallet Sod)		4,800 SF	8			88.888.8888 X			<del></del>		

	IFB 11-2981CD D, FERTILIZER, HERBICIDES, and OTHI CHEMICALS	ER RELATE	D AQUATIC	Southern Ag 7400 Baysho Rubonia, FL			Crop Producti 2100 Moores Mulberry, FL 3	Lane		Agrium Advar 2915 Rocky M Loveland, CO	nced Technologie Mountain Ave, #40 80538	s 00
ITEM	PRODUCT NAME	SIZE	EST, QTY,	ALTERNATE	UNIT PRICE	PRICE	ALTERNATE	UNIT PRICE	PRICE	ALTERNATE	UNIT PRICE	PRICE
-9	419 DERMUDA SOD									TE TEMPORE	OHI PRICE	TRICE
Α	1-4 PALLETS (400 SF - 1,999 SF)  a. DELIVERED AND SPOT PLACED		500 SF		NO BID	F		NO BID	4000000000		NO BID	<b>4</b> 00000000000
	b COUNTY PICK UP		800 SF									
Di.	C DELIVERED & INSTALLED (Pallet Sod)		1,600 SF									
W.	d ROLLED SOD- DELIVERED & INSTALLED		200 SF	***************************************					•			
В	5-9 PALLETS (2,000 SF - 3,999 SF)				NO BID			NO BID	4	***************************************	NO BID	
	C DELIVERED & INSTALLED (Pallet Sod)		8,000 SF	***************************************						x	NO BID	
	d ROLLED SOD- DELIVERED & INSTALLED	*******	4,000 SF	***************************************					1			
	10-24 PALLETS (4,000 SF - 9,999 SF)				NO BID			NO BID	4	************	NO BID	
	a DELIVERED & INSTALLED (Pallet Sod)		12,000 SF							************		
-	b ROLLED SOD- DELIVERED & INSTALLED	*********	4,000 SF									
D	25 PALLETS OR MORE (10,000 SF OR MORE)				NO BID			NO BID	***************************************		NO 515	***********
	a DELIVERED & INSTALLED (Pallet Sod)		38,000 SF	**************************************		***********	***********	HO BID		**********	NO BID	************
-	b ROLLED SOD- DELIVERED & INSTALLED		1,000 SF	************		<b>***********</b>	******************************					
	STAKE/STAPLES (INSTALLED BY VEN	DOR)			NO BID			NO BID			NO BID	
	a STAPLES (COUNTY SUPPLIED) b STAPLES (VENDOR SUPPLIED)	-	1 EA			<b>************</b>	**************************************	***************************************	<b>*************************************</b>		***************************************	<b>********</b>
	& MULCH	No.	10,000 SF	200000000000000000000000000000000000000		***************************************	************			***********		
	NON GOLF COURSE SEED (50 POUND BAGS) a. PENSACOLA BAHIA SEED	50 IB	400 Bag	***************************************	NO BID			NO BID	b		NO BID	
	b. RYE GRASS (OCT THRU MARCH)	50 18	340 Bag					••••••				
	c. BROWN TOP MILLET (APRIL THRU SEPT.)	50 IB	340 Bag	***************************************								
_	d. BERMUDA SEED (HULLED)	50 IB	500 Bag	***************************************								
ъ. т	MULCH (50 POUND BAGS)	S 2			NO BID			NO BID			NO BID	200000000000000000000000000000000000000
	a. CYPRESS MULCH (Grade "A")		500 Bag	\$\$\$\$\$\$\$\$\$\$\$\$\$\$\$\$\$\$\$\$\$\$\$\$\$\$\$\$\$\$\$\$\$\$\$\$\$\$	<b>************</b>	***************************************		************	***************************************	****************	······································	**********
-	b. PREMIUM SHREDDED CYPRESS		400 Bag				888888888888		***************************************			
1	MALALUAKA MULCH- FLORAMULCH *		500 Bag									
	CELLULOSE MULCH(FOR HYDRO SEEDING), d 60% PAPER, 40% WOOD FIBER (50 LB BALES)	50 IB	300 Bag									

so	IFB 11-2981CD D, FERTILIZER, HERBICIDES, and OTHE CHEMICALS		D AQUATIC	Southern Ag 7400 Baysho Rubonia, FL	ore Road	secticide		Crop Produ 2100 Moore Mulberry, Fl		es		Agrium Adva 2915 Rocky Loveland, C	Mountain A		
ITEM	PRODUCT NAME	CONTAINER SIZE	EST, QTY.	ALTERNATE	UNIT F	PRICE	PRICE	ALTERNATE	UNIT P	DICE	PRICE				PRICE
FERT	TLIZERS	STANKED I	A THE PERSON	OF STREET	WANTS NO.	AUGUSTAN	CONTRACTOR DE	AL IERRANIE	UNITE	KICE	FRICE	ALTERNATE	UNIT PI	RICE	PRICE
1	6-2-16 FERTILIZER, w/ Slow Release Nitrogen (NO SUBSTITUTIONS) 15-0-15 FERTILIZER W/.67% RONSTAR AND SLOW RELEASE NITROGEN (NO	BAGS	30,000 LB		NO	BID			NO	BID			NO E	BID	
2	SUBSTITUTIONS)	BAGS	20,000 LB		NO	BID		ı	NO	DID		ı			
HERE	BICIDES/ ALGICIDES	SARCES!		THE STREET, ST	4.00	DID		AND ALCOHOL:	NO	DID	A WINDS CO.		NO E	SID	
Sills.	VETERAN 720	2.5 gal	2 EA		NO Bid	******	100000000000000000000000000000000000000	1	\$32.00	/GL	\$160.00	A SHOULD SHOW	NO Bid		(00000000000000000000000000000000000000
1107	ISOPROPYLAMINE SALT OF GLYPHOSATE	2.5 gal	24 EA	Glyphosate Pro 4	\$28.75	/EA	\$690.00	Med dog Plus	\$9.95	/GL	\$597.00	_	NO Bid		
3	ROUNDUP PRO	2.5 gal	200 EA	Olyphosate Pro 4	\$28.75	/EA	\$5,750.00		***					••••	
4	a. WEEDAR 64 (AQUATIC LABEL) (NO SUBS)	2.5 gal	15 EA	000000000000000000000000000000000000000	NO Bid	/EA	\$5,750.00	Mad dog Plus	\$9.95 \$13.90	/GL	\$4,975.00		NO Bid		
	b. WEEDAR 64 (AQUATIC LABEL) (NO SUBS)	30 gal	10 EA		NO Bid				\$13.90	/GL	\$521.25		NO Bid		
5	a. RODEO, AQUA CLEAR	2.5 gal	10 EA	Aquaneat	\$34.75	/EA	\$347.50	Rodeo	\$13.90	/GL	\$4,170.00 \$330.00	***************************************	NO Bid		
	b. RODEO, AQUA CLEAR (RETURNABLE CONTAINER)	30 gal	50 EA	Aguaneat	\$405.00	/EA	\$20,250.00	Rodeo	\$12.74	/GL	\$19,110.00		NO Bid		
6	SONAR Q (NO SUBSITUTITIONS)	40 lb	30 EA		NO Bid	W			\$24.95	/Lb	\$29,940.00				
7	SONAR (A.S) (NO SUBSTITUTIONS)	1 gal	5 GL		NO Bid				\$1,698.00		\$8,490.00		NO Bid		
8	SILKEN, KINETIC	1 gal	150 GL		NO Bid			Silnet 200	\$31,20	/GL	\$4,680.00		NO Bid		
9	SENCOR 75 TURF (NO SUBSTITUTIONS)	5 lb	4 EA		NO Bid			Cibrici 200	NO Bid	700	\$4,000,00			/EA	84 076 00
10	MEC AMINE-D	2.5 gal	20 EA		NO Bid				NO Bid				-		\$1,375.00
11	a. TRAN XIT GTA (NO SUBSTITUTIONS)	3 oz	10 EA	8 oz ordy	\$340.00	/EA	\$3,400.00		NO Bid		<del> </del>			/EA	\$1,000.00
	b. TRAN XIT GTA (NO SUBSTITUTIONS)	15 oz	2 EA	S az aply	\$340.00	/EA	\$2,040.00				<b></b>		NO Bid		
12	MONUMENT 75WG (NO SUBSTITUTIONS)	5x5 gram	12 EA	a Grand	\$240.00	/EA	\$8,640.00		NO Bid		<del> </del>		NO Bid		<u> </u>
13	GARLON 4 (GENERICS ALLOWED)	2.5 gal	12 EA		NO Bid	********	30,040.00			****	*****************	***************************************		/EA	\$2,880.00
14	A GARLON 3A (GENERICS ALLOWED)					****		Element 4	\$52,00	/GL	\$1,560.00		NO Bid		
		2.5 gal	250 EA	-	NO Bid			Element 3A	\$37.10	/GL	\$23,187.50		NO Bid		
15	B GARLON 3A (GENERICS ALLOWED) PLATEAU (NO SUBSTITUTIONS)	30 GAL	20 EA		NO Bid			Element 3A	\$37.10	/GL	\$22,260,00		NO Bid		
13	POLICAD (NO SOBSTITUTIONS)	2.5 gal	100 EA		NO Bid	*****			\$120.00	/GL	\$30,000.00		NO Bid		
	MILESTONE VM (NO SUBSTITUTIONS)	2.5 gal	40 EA		NO Bid				\$290.00	/GL	\$29,000.00		NO Bid		
1G	CIDES	Chicago .	to be the way		Asset Age	0.54.67			- Carlot	( STATE OF	NEW CHORN OF	S-300200 (1) 420	BARRIOTE .	100 C	
	ALIETTE WDG (GENERICS ALLOWED)	5.5 lb	5 EA		\$105.00	/EA	\$525.00		NO E	BID			NO B	ID D	

SOE	IFB 11-2981CD D, FERTILIZER, HERBICIDES, and OTH CHEMICALS	ER RELATE	D AQUATIC	Southern Agr 7400 Baysho Rubonia, FL	re Road	secticide	s	Crop Product 2100 Moores Mulberry, FL	Lane	es		Agrium Adva 2915 Rocky Loveland, Co	Mountain A		
ITEM	PRODUCT NAME	CONTAINER SIZE	EST, QTY.	ALTERNATE	UNIT P	RICE	PRICE	ALTERNATE	UNIT P	RICE	EXTENDED PRICE	ALTERNATE	UNIT P	DICE	PRICE
INSEC	TICIDES			STORY THE	Y. V. K. E.		Section 1	ALTERNATION AND ADDRESS OF THE PARTY OF THE	MAN TO SERVICE	Considerate and the second	TO THE REAL PROPERTY.	ALTERNATE	UNITE	RICE	PRICE
1	ORTHENE	10 lb	10 EA		NO Bid	****	100000000000000000000000000000000000000		NO Bid	3000000		Acephate	\$9.00	/LB	\$900.00
2	a. AMDRO 1LB (NO SUBSTITUTIONS)	1 lb	10 LB		NO Bid		**********	***********	NO Bid			*************	NO Bid	******	
	b. AMDRO 25LB (NO SUBSTITUTIONS)	25 lb	20 EA		\$173.75	/EA	\$3,475.00		NO Bid			************	\$200.00	/EA	\$4,000.00
3	TOPCHOICE (NO SUBSTITUTIONS)	50 lb	100 EA	***************************************	\$162.50	/EA	\$16,250.00		NO Bid				\$162.50		\$16,250.00
4	TALSTAR F	1 gai	40 GL	Upstar Gold	\$32.00	/GL	\$1,280.00		NO Bid				\$30.00	/EA	\$1,200.00
	ALOFT LC SC (NO SUBSTITUTIONS)	64 oz	20 EA		\$496.00	/EA	\$9,920.00	***************************************	NO Bid	3000000		200000000000000000000000000000000000000	4.00100		\$9,900.00
الالاسم	VANTS & ADDITIVES	A WARRY	HOST COLLANS	100 - 100 - 1	-9-, 5090	AUTOS.		0.34332	100 P 100 P				\$435.00	/CA	45,500.00
1	DEFOAMER	1 quart	120 quart		\$4.50	/QT	\$540.00	Un Foamer	\$8.20	/QT	\$984.00		NO Bid		
2	LOVELAND X-77 SPREADER	1 gal	500 GL		NO Bid			Spreader 90	\$9.46	/GL	\$4,730.00		NO Bid		
	PROMATE ACCURACY, WINDBRAKE, AIRTIGHT (NO SUBSTITUTIONS)	1 quart	2,000 quart		NO Bid				NO Bid				NO Bid		

soi	IFB 11-2981CD D, FERTILIZER, HERBICIDES, and OTHER CHEMICALS			Red River Sp 1013 NW Su Branford, FL		EXTENDED	Univar USA 5051 L.B Mc Orlanddo, FL	Leod Rd, Suite D		AlliGare LLC 13 N. 8th Str Opelika, AL	reet		214 Simm	emical, Inc. ons Drive e, VA 24077	
SODS	PRODUCT NAME	SIZE SIZE	EST, QTY,	ALTERNATE	UNIT PRICE	PRICE	ALTERNATE	UNIT PRICE	PRICE	ALTERNATE	UNIT PRICE	PRICE	ALTERNATE	UNIT PRICE	PRICE
1	BAHIA SOD			APPENDED TO		NE PROPERTY AND ADDRESS.	Seglet Wa		No. of the last	NAME OF TAXABLE PARTY.			ESS.		
A	1-4 PALLETS (400 SF - 1,999 SF)	*********	***********	-	NO DID		_								
	a. DELIVERED AND SPOT PLACED		6,000 SF	1	NO BID	<b>!</b>	4	NO BID	<b>4</b>		NO BID	40000000000		NO BID	4000000000000
	b COUNTY PICK UP		800 SF				<del> </del>					·			
D-	C DELIVERED & INSTALLED (Pallet Sod)		4,000 SF												
3	5-9 PALLETS (2,000 SF - 3,999 SF)				NO BID			NO BID	400000000000		NO DID		(CCCCCCCCC)		************
	a. DELIVERED AND SPOT PLACED		5,600 SF			<b>!</b>		NO BID	<b>*</b>		NO BID	400000000	000000001	NO BID	40000000000
	b DELIVERED & INSTALLED (Pallet Sod)		7,600 SF												
	C SLOPE DELIVERY & INSTALLATION (Pallet Sod)		1,800 SF												
С	10-24 PALLETS (4,000 SF - 9,999 SF)				NO BID			NO BID			NO BID	X (	·	NO BID	
	a. DELIVERED AND SPOT PLACED		4,000 SF				***************************************		<b>!</b>			<b>1</b>	******	NOBID	<b>\$</b> 00000000000
	b DELIVERED & INSTALLED (Pallet Sod)		8,000 SF												
	C SLOPE DELIVERY & INSTALLATION (Pallet Sod)		12,500 SF												
D	25 PALLETS OR MORE (10,000 SF OR MORE)				NO BID		1	NO BID			NO BID		************		*****************
- 1	a. DELIVERED & INSTALLED (Pallet Sod)		225,000 SF								NOBID	<b>1</b>	S.S.S.S.S.S.S.	NO BID	*************
	b SLOPE DELIVERY & INSTALLATION (Pallet Sod)		400,000 SF												
2	ST. AUGUSTINE- FLORATAM			***************************************			***************************************	******************	100000000000000000000000000000000000000			180000000000000000000000000000000000000			
	1-4 PALLETS (400 SF - 1,999 SF)				NO BID			NO BID			NO BID			NO BID	
	a. DELIVERED AND SPOT PLACED		7.000.00									<b>!</b>			
- 1	b COUNTY PICK UP		7,600 SF 800 SF												
	C DELIVERED & INSTALLED (Pailet Sod)		3,200 SF	· · · · · · · · · · · · · · · · · · ·											
	d SLOPE DELIVERY & INSTALLATION (Pallet Sod)		250 SF												
В	5-9 PALLETS (2,000 SF - 3,999 SF)				NO BID			NO BID			NO BID			NO BID	
	a. DELIVERED AND SPOT PLACED		2.500 SF								NO BID	1	*******	NO BID	
	b DELIVERED & INSTALLED (Pallet Sod)		4,800 SF												

SOE	IFB 11-2981CD D, FERTILIZER, HERBICIDES, and OTHE CHEMICALS	R RELATE	ED AQUATIC	Red River Sp 1013 NW Su Branford, FL		EXTENDED	Univar USA 5051 L.B Mo Orlanddo, F	cLeod Rd, Suite D		AlliGare LL0 13 N. 8th St Opelika, AL	reet		CWC Che 214 Simm Cloverdale		
ITEM	PRODUCT NAME	SIZE	EST, QTY.	ALTERNATE	UNIT PRICE	PRICE	ALTERNATE	UNIT PRICE	PRICE	ALTERNATE	UNIT PRICE	PRICE	ALTERNATE	UNIT PRICE	PRICE
-3-	419 DERMUDA SOD			-									4		
Α	1-4 PALLETS (400 SF - 1,999 SF)				NO BID			NO BID			NO BID			NO BID	
	a. DELIVERED AND SPOT PLACED		500 SF									1			
	b COUNTY PICK UP		800 SF								**********	8			
llb.	C DELIVERED & INSTALLED (Pallet Sod)		1,600 SF												
	d ROLLED SOD- DELIVERED & INSTALLED		200 SF												
В	5-9 PALLETS (2,000 SF - 3,999 SF)				NO BID			NO BID	4		NO BID	•		NO BID	*************
	C DELIVERED & INSTALLED (Pallet Sod)		8,000 SF				: ************************************		<b>***********</b>		**********	8			***************************************
	d ROLLED SOD- DELIVERED & INSTALLED		4,000 SF												
С	10-24 PALLETS (4,000 SF - 9,999 SF)				NO BID			NO BID			NO BID	0.0000000000000000000000000000000000000	·····	NO BID	************
	a DELIVERED & INSTALLED (Pallet Sod)		12,000 SF												***************************************
	b ROLLED SOD- DELIVERED & INSTALLED		4,000 SF												
D	25 PALLETS OR MORE (10,000 SF OR MORE)				NO BID			NO BID			NO BID		1	NO BID	
	a DELIVERED & INSTALLED (Pallet Sod)		38,000 SF	***********	*************						NO BID			NOBID	***********
_	b ROLLED SOD- DELIVERED & INSTALLED		1,000 SF		***************************************	200000000000000000000000000000000000000	( XXXXXXXXXX								
	STAKE/STAPLES (INSTALLED BY VEN	DOR)			NO BID			NO BID			NO BID			NO BID	
	a STAPLES (COUNTY SUPPLIED) b STAPLES (VENDOR SUPPLIED)	1	1 EA						***************************************	***************************************		<b>(888888888</b>	s	********	***************************************
	& MULCH	13 K S. L. E. S.	10,000 SF	***************************************	***************************************				<b>***********</b>	s			<b>********</b>		**********
	NON GOLF COURSE SEED (50 POUND BAGS)				NO BID	N-31-3/12/09		NO BID	I BRIDGE TO	100000	NO DIE		STATE OF STREET		THE PARTY
1	a. PENSACOLA BAHIA SEED	50 IB	400 Bag	l:::::::::::::::::::::::::::::::::::::		<b>k</b> ***********	<b>.</b>	**************************************	b:::::::::::::::::::::::::::::::::::::	0000000E	NO BID	<b>4</b> 2000000000000000000000000000000000000	000000000000000000000000000000000000000	NO BID	<u> </u>
[	b. RYE GRASS (OCT THRU MARCH)	50 IB	340 Bag									•		•••••	·
- 1	c. BROWN TOP MILLET (APRIL THRU SEPT.)	50 IB	340 Bag			***************************************	***************************************	***************************************	**********			<b>!</b>			
$\overline{}$	d, BERMUDA SEED (HULLED)	50 IB	500 Bag			***************************************	***************************************	***************************************							
-	MULCH (50 POUND BAGS)				NO BID			NO BID			NO BID			NO BID	
	a. CYPRESS MULCH (Grade "A")		500 Bag				******		************	**************************************	******	××××××××××××××××××××××××××××××××××××××			***************************************
-	b. PREMIUM SHREDDED CYPRESS	-	400 Bag										8888888 S		·
1	c MALALUAKA MULCH-FLORAMULCH*		500 Bag												
	CELLULOSE MULCH(FOR HYDRO SEEDING), d 60% PAPER, 40% WOOD FIBER (50 LB BALES)	50 IB	300 Bag												

so	IFB 11-2981CD D, FERTILIZER, HERBICIDES, and OTHE CHEMICALS		ED AQUATIC	Red River S 1013 NW S Branford, F	uwannee A			Univar USA 5051 L.B Mo Orlanddo, Fl	Leod Rd, S	uite D		AlliGare Lt 13 N. 8th 5 Opelika, Al	Street			214 Sim	nemical, Inc mons Drive ale, VA 240		
ITEM		CONTAINER SIZE	EST, QTY.	ALTERNATE	UNIT P	RICE	PRICE	ALTERNATE	UNIT PR	NCE	PRICE	ALTERNATE	UNIT PR	uor.	PRICE				EXTENDED
FERT	LIZERS	A GEST AND	T. S. Man . St.	Service of	17916-100	9-765	STATE OF THE STATE	C-0,700 of 7070 of	O'MITTER ON	THE STATE OF THE S	1 TOPE	ALTERNATE	UNITER	CICE	PRICE	AL TERNATE	UNIT PE	IICE	PRICE
1	6-2-16 FERTILIZER, w/ Slow Release Nitrogen (NO SUBSTITUTIONS) 15-0-15 FERTILIZER W/ .67% RONSTAR AND	BAGS	30,000 LB		NO I	BID			NO B	ID .		Г	NO E	BID.			NO	BID	
2	SLOW RELEASE NITROGEN (NO SUBSTITUTIONS)	BAGS	20,000 LB		NO I	BID			NO BI	n						$\vdash$			
HERB	ICIDES/ ALGICIDES			Authorities	Total Control	255000	STATE OF THE PARTY OF	The Park 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	NO BI		ACTIVITIES IN	and the same of	NO E	SID			NO	BID	
	VETERAN 720	2.5 gal	2 EA		\$82.00	/EA	\$164.00		NO Bid	300000	200000000000000	100000000000000000000000000000000000000	NO PLA			CERTIFICA	44000000	FERRIC	MERRIE
	ISOPROPYLAMINE SALT OF GLYPHOSATE	2.5 gal	24 EA		\$28.10	/EA	\$674.40		NO Bid			Glophosate 4+	NO Bid \$24.25	/EA	\$582.00	_	\$77.00 \$37.00	/EA	\$154.0 \$888.0
3	ROUNDUP PRO	2.5 gal	200 EA	Generic	\$28.10	/EA	\$5,620.00	Eraser	e20 60	/EA	#C 450 00	1				_			
4	a. WEEDAR 64 (AQUATIC LABEL) (NO SUBS)	2.5 gal	15 EA	**********	NO Bid	******	\$3,020.00	***************************************	\$30.50 NO Bid	/EA	\$6,100.00	Glophosate 4*	\$24.25	/EA	\$4,850.00	ļ	\$37.00	/EA	\$7,400.0
	b. WEEDAR 64 (AQUATIC LABEL) (NO SUBS)	30 gal	10 EA	******	NO Bid	******		***************************************	NO Bid	*****		***************************************	NO Bid	-3333			NO Bid	***	
5	a. RODEO, AQUA CLEAR	2.5 gal	10 EA		\$36.25	/EA	\$362.50	***********	NO Bid	******			NO Bid \$30.75	/EA	#207 F0	********	NO Bid		
	b. RODEO, AQUA CLEAR (RETURNABLE CONTAINER)	30 gal	50 EA		\$409.50	/EA	\$20,475.00		NO Bid			Glophosate 5.4	\$355.50	/EA	\$307.50 \$17.775.00		\$37.00	/EA	\$370.00
	SONAR Q (NO SUBSITUTITIONS)	40 lb	30 EA		NO Bid	****	*************	**********	NO Bid			00000000000		/EA	\$17,775,00	**********	\$480.00	/EA	\$24,000.00
,	SONAR (A.S) (NO SUBSTITUTIONS)	1 gai	5 GL		NO Bid				NO Bid				NO Bid				NO Bid		
	SILKEN, KINETIC	1 gai	150 GL	Elite Marvel	\$38.00	/EA	\$5,700.00		NO Bid										***************************************
	SENCOR 75 TURF (NO SUBSTITUTIONS)	5 lb	4 EA	***********	NO Bid	*****	*******************	***************************************	\$390.00	/EA	\$1,560.00		NO Bid	*****		Sit Energy	\$55,00	/EA	\$8,250.00
0	MEC AMINE-D	2.5 gal	20 EA		NO Bid			***************************************		/CA	\$1,360.00	***********	NO Bid			<u> </u>	NO Bid		
1	a. TRAN XIT GTA (NO SUBSTITUTIONS)	3 oz	10 EA	*************	NO Bid				NO Bid				NO Bid		<b>**********</b>		NO Bid		
	b. TRAN XIT GTA (NO SUBSTITUTIONS)	15 oz	2 EA		NO Bid	****			NO Bid				NO Bid		<u> </u>		NO Bid		
2	MONUMENT 75WG (NO SUBSTITUTIONS)	5x5 gram	12 EA		NO Bid	*****			NO Bid \$240.00				NO Bid				NO Bid		
3	GARLON 4 (GENERICS ALLOWED)	2.5 gal	12 EA	Element 4	\$125.00	/EA	£1 500 00	***************************************		/EA	\$2,880.00	***********	NO Bid				NO Bid	****	
4	A GARLON 3A (GENERICS ALLOWED)	2.5 gal	250 EA	Element 3A	\$102.50		\$1,500.00 \$25,625.00		NO Bid			Triclopyr 4	\$109.75	/EA	\$1,317.00	Element 4	\$134.00	/EA	\$1,608.00
	B GARLON 3A (GENERICS ALLOWED)	30 GAL	20 EA	Element 3A	\$1,230,00				NO Bid			Trickopyr 3	\$86.80	/EA	\$21,700.00	Element 3	\$116.00	/EA	\$29,000.00
5	PLATEAU (NO SUBSTITUTIONS)	2.5 gal	100 EA	Section 2A	\$302.50	-	\$24,600.00 \$30,250,00		NO Bid			Triclopyr 3	\$1,026.60	/EA	\$20,532.00	Element 3	\$1,390.00	/EA	\$27,800.00
h. 1	MILESTONE VM (NO SUBSTITUTIONS)								NO Bid				NO Bid				\$360.00	/EA	\$36,000.00
	CIDES	2.5 gal	40 EA		\$749.325	/EA	\$29,973.00	***************************************	NO Bid				NO Bid				\$749.32	/EA	\$29,972.80
		I		June 2 last 19	THE REAL PROPERTY.	200	Sa Partilla first	OF TAXABLE	\$1500 page 1000	933	DSS MICH.		1000	S No.		MAN SOUR		ASI EN	TEXA BELL
	ALIETTE WDG (GENERICS ALLOWED)	5.5 lb	5 EA	Fosetyl-Al	\$93.50	/EA	\$467.50		NO BIE	)			NO B	חו			NO	DID	

				-	-					_	-				-141		
sot	IFB 11-2981CD D, FERTILIZER, HERBICIDES, and OTH CHEMICALS	ER RELATE	D AQUATIC	Red River Sp 1013 NW Sur Branford, FL	wannee Av			Univar USA I 5051 L.B Mci Orlanddo, FL	Leod Rd, Si	uite D		AlliGare LL0 13 N. 8th St Opelika, AL	reet		214 Simm	emical, Inc. nons Drive e, VA 24077	
ITEM	PRODUCT NAME	CONTAINER SIZE	EST. QTY,	ALTERNATE	UNIT PR	ICE	PRICE	ALTERNATE	UNIT PR	ICE	PRICE	ALTERNATE	UNIT PRICE	PRICE	-	UNIT PRICE	EXTENDED PRICE
INSEC	CTICIDES	10 50 F 100	10000		Se district	W.C.D	La la serie		0.00		W. 15 V.	- Water 17:00	A CONTRACTOR		ALTERIORIE.	OH) FRICE	THE STATE OF THE S
1	ORTHENE	10 lb	10 EA	Fire Ant Killer	\$9.00	/Lb	\$900.00		NO Bid	*****	***************************************		NO Bid	808 (0000000000000000000000000000000000	S 1000000005	NO Bid	1000 1000000000000000000000000000000000
2	a. AMDRO 1LB (NO SUBSTITUTIONS)	1 lb	10 LB	800000000000000000000000000000000000000	\$12.00	/EA	\$120.00	*************	NO Bid			*********	NO Bid		S	NO Bid	
	b. AMDRO 25LB (NO SUBSTITUTIONS)	25 lb	20 EA	T 888888888888888888888888888888888888	\$206.25	/EA	\$4,125.00		\$193.75	/BG	\$3,875.00		NO Bid			NO Bid	
3	TOPCHOICE (NO SUBSTITUTIONS)	50 lb	100 EA		\$162.50	/EA	\$16,250.00	4 4 4 4 4 4 4 4 4 4 4 4 4 4	\$162.50	/BG	\$16,250.00	Participated and a facilitation of	NO Bid			NO Bid	
la.	TALSTAR F	1 gai	40 GL	Bifen	\$32.00	/GL	\$1,280.00	Masterline Bifen	\$33.00	/GL	\$1,320.00		NO Bid			NO Bid	
109	ALOFT LC SC (NO SUBSTITUTIONS)	64 oz	20 EA		\$525.00	/EA	\$10,500.00	***************************************	NO Bld	*****	************		NO Bid			NO Bid	
ADJU	VANTS & ADDITIVES	THE STATE OF	EN CHANGE	AND STREET		MEN	1000	THE TELEPON	HEMEL/CORS	Significan		COLUMN TO SERVER	PART BRIDE			HO DIG	
1	DEFOAMER	1 quart	120 quart		NO Bid				\$4.95	/QT	\$594.00	Aligare Antiform	\$4.35 /0	T \$522.00		\$8.00	QT \$960.00
2	LOVELAND X-77 SPREADER	1 gal	500 GL		NO Bid				NO Bid			Aligard 90	\$6.95 //	SL \$3,475,00	cwc 90	\$11.00	GL \$5,500.00
3	PROMATE ACCURACY, WINDBRAKE, AIRTIGHT (NO SUBSTITUTIONS)	1 quart	2,000 quart		NO Bid				NO Bid				NO BIA	-		NO Bid	GE \$5,500.00

Keyed by:

Chris Daley, CPPB- Serior Buyer

Checked by:

Mariorie4 ofts. Administrative Asst

10/19/2011

SOI	IFB 11-2981CD D, FERTILIZER, HERBICIDES, and OTHER R CHEMICALS	ELATE	ED AQUATIC	2315 Zipp	od Service, Inc. erer Raod ı, FL 34212		Sunbelt So 819 9th St Ruskin, FL			Penningtor 1280 Atlan Madison, C	ta HWY		Diamond R Fe 4100 Glades ( Ft. Pierce, FL		
ITEM	PRODUCT NAME	ITAINER SIZE	EST. QTY.	ALTERNATE	UNIT PRICE	EXTENDED PRICE	ALTERNATE	UNIT PRICE	EXTENDED PRICE	ALTERNATE	UNIT PRICE	EXTENDED PRICE	ALTERNATE	UNIT PRICE	EXTENDED PRICE
SODS						<u>'</u>						<u> </u>			"
1	BAHIA SOD														
Α	1-4 PALLETS (400 SF - 1,999 SF)						1 Pallet =	400 Square F	eet						
	a. DELIVERED AND SPOT PLACED		6,000 SF		\$0.16 /SF	\$960.00		\$0.25 /SF	\$1,500.00						
	<b>b</b> COUNTY PICK UP		800 SF	30 30 3	\$0.14 /SF	\$112.00		No Bid /SF	300000						
	c DELIVERED & INSTALLED (Pallet Sod)		4,000 SF		\$0.195 /SF	\$780.00		\$0.30 /SF	\$1,200.00						
В	5-9 PALLETS (2,000 SF - 3,999 SF)														
	a. DELIVERED AND SPOT PLACED		5,600 SF		\$0.155 /SF	\$868.00		0.20 /SF	\$1,120.00						
	<b>b</b> DELIVERED & INSTALLED (Pallet Sod)		7,600 SF	<ul><li>3</li><li>3</li></ul>	\$0.175 /SF	\$1,330.00		0.25 /SF	\$1,900.00				8 0 100 100 100		
	c SLOPE DELIVERY & INSTALLATION (Pallet Sod)		1,800 SF		\$0.185 /SF	\$333.00		0.26 /SF	\$468.00						
С	10-24 PALLETS (4,000 SF - 9,999 SF)		80.80.80.80	0.000					38 388 38					3 3 3 3 3	
	a. DELIVERED AND SPOT PLACED		4,000 SF		\$0.15 /SF	\$600.00		\$0.18 /SF	\$720.00						
	<b>b</b> DELIVERED & INSTALLED (Pallet Sod)		8,000 SF		\$0.175 /SF	\$1,400.00		\$0.18 /SF	\$1,440.00						
	c SLOPE DELIVERY & INSTALLATION (Pallet Sod)		12,500 SF		\$0.185 /SF	\$2,312.50		\$0.18 /SF	\$2,250.00						
D	25 PALLETS OR MORE (10,000 SF OR MORE)														
	330		225 222 25	8 8 8	\$0.165 /SF	\$37,125.00		\$0.18 /SF	\$40,500.00						
	a. DELIVERED & INSTALLED (Pallet Sod)		225,000 SF	30 30 3	φυ.165 /SF	\$37,125.00		φυ.10 /SF	\$40,500.00						
	<b>b</b> SLOPE DELIVERY & INSTALLATION (Pallet Sod)		400,000 SF	® 8 8	\$0.175 /SF	\$70,000.00		\$0.175 /SF	\$70,000.00						
2	ST. AUGUSTINE- FLORATAM														
Α	1-4 PALLETS (400 SF - 1,999 SF)						1 Pallet =	400 Square F	eet						
	a. DELIVERED AND SPOT PLACED		7,600 SF		\$0.32 /SF	\$2,432.00		\$0.30 /SF	\$2,280.00						
	<b>b</b> COUNTY PICK UP		800 SF		\$0.275 /SF	\$220.00		No Bid /SF							
	C DELIVERED & INSTALLED (Pallet Sod)		3,200 SF		\$0.40 /SF	\$1,280.00		\$0.35 /SF	\$1,120.00						
	d SLOPE DELIVERY & INSTALLATION (Pallet Sod)		250 SF		\$0.41 /SF	\$102.50		\$0.37 /SF	\$92.50						
В	5-9 PALLETS (2,000 SF - 3,999 SF)				0 0 00 0 0 00										
	a. DELIVERED AND SPOT PLACED		2.500 SF		\$0.32 /SF	\$800.00		\$0.30 /SF	\$750.000						general de la companya de la company
	c DELIVERED & INSTALLED (Pallet Sod)		4,800 SF		\$0.40 /SF	\$1,920.00		\$0.35 /SF	\$1,680.00						

SOI	IFB 11-2981CD ), FERTILIZER, HERBICIDES, and OTHER RELATED CHEMICALS	) AQUATIC	2315 Zipp	od Service, Ind berer Raod n, FL 34212		Sunbelt S 819 9th S Ruskin, F			Pennington 1280 Atlan Madison, 0	ita HWY		Diamond R F 4100 Glades Ft. Pierce, FL	Cutoff Road		
ITEM	PRODUCT NAME CONTAINER SIZE	EST. QTY.	ALTERNATE	UNIT PRICE	EXTENDED PRICE	ALTERNATE	UNIT PRICE	EXTENDED PRICE	ALTERNATE	UNIT PRICE	EXTENDED PRICE	ALTERNATE	UNIT PE	RICE	EXTENDED PRICE
3	419 BERMUDA SOD														
	E8823828						400 Sq Ft/							3 3	
Α	1-4 PALLETS (400 SF - 1,999 SF)					1 Roll = 3	00 Sq Ft				4				
	a. DELIVERED AND SPOT PLACED	500 SF		\$0.32 /SF	\$160.00		\$0.30 /SF	\$150.00							
	<b>b</b> COUNTY PICK UP	800 SF		\$0.275 /SF	\$220.00		No Bid /SF								
	C DELIVERED & INSTALLED (Pallet Sod)	1,600 SF		\$0.41 /SF	\$656.00		\$0.35 /SF	\$560.00							
	d ROLLED SOD- DELIVERED & INSTALLED	200 SF		\$0.43 /SF	\$86.00		\$0.35 /SF	\$70.00							
В	5-9 PALLETS (2,000 SF - 3,999 SF)														
	C DELIVERED & INSTALLED (Pallet Sod)	8,000 SF		\$0.41 /SF	\$3,280.00		\$0.35 /SF	\$2,800.00							
	d ROLLED SOD- DELIVERED & INSTALLED	4,000 SF		\$0.43 /SF	\$1,720.00		\$0.35 /SF	\$1,400.00							
С	10-24 PALLETS (4,000 SF - 9,999 SF)			0.000.000.000				: <del>                                     </del>		00 00 00 00 00 00 00 00 00				33 33	
	c DELIVERED & INSTALLED (Pallet Sod)	12,000 SF	33 33 33	\$0.39 /SF	\$4,680.00		\$0.31 /SF	\$3,720.00						3 3	
	d ROLLED SOD- DELIVERED & INSTALLED	4,000 SF		\$0.41 /SF	\$1,640.00		\$0.31 /SF	\$1,240.00							
D	25 PALLETS OR MORE (10,000 SF OR MORE)														
	C DELIVERED & INSTALLED (Pallet Sod)	38,000 SF		\$0.37 /SF	\$14,060.00		\$0.31 /SF	\$11,780.00							
	d ROLLED SOD- DELIVERED & INSTALLED	1,000 SF		\$0.39 /SF			\$0.31 /SF	\$310.00							
4	STAKE/STAPLES (INSTALLED BY VENDOR)														
	C STAPLES (COUNTY SUPPLIED)	1 EA		\$0.04 /EA			\$0.02 /SF							33 33	
200122	d Staples (vendor supplied)	10,000 SF	33 33 3	\$0.07 /SF	-		\$0.04 /SF	\$400.00						33 33	
CEED	ESTIMATED PRIMARY AWARD TOTALS FOR S & MULCH	R SOD	00 00 0		\$113,948.00	190000000000000000000000000000000000000		\$30,602.52	0.00				00 00 00	00 00	
SEED			200500000000			( 000000000				200 200 200 200					
1	NON GOLF COURSE SEED (50 POUND BAGS)	400 Daw	30 00 0				100000000000000000000000000000000000000			\$112.00 /BAG	¢44,900,00		\$117.50	/DAG	\$47,000.00
	a. PENSACOLA BAHIA SEED 50 IB b. RYE GRASS (OCT THRU MARCH) 50 IB	400 Bag 340 Bag							1	\$112.00 /BAG \$25.00 /BAG			\$117.50 \$24.80	/BAG /BAG	\$8,432.00
	c. BROWN TOP MILLET (APRIL THRU SEPT.) 50 IB	340 Bag							1	\$25.00 /BAG			\$26.80	/BAG	\$9,112.00
	d. BERMUDA SEED (HULLED) 50 IB	500 Bag							:		\$105,000.00		\$187.50	/BAG	\$93,750.00
2	MULCH (50 POUND BAGS)	<u> </u>								8 8 8 8		0 0 0 0	* * *	3 3	
	a. CYPRESS MULCH (Grade "A")	500 Bag								S S S S				· 30 · 30	
	b. PREMIUM SHREDDED CYPRESS	400 Bag								9 9 9 B				33 33	
	C MALALUAKA MULCH- FLORAMULCH ®	500 Bag													
		- July Bug							70 Paper			10000000000000000000000000000000000000		77. 77.	
	CELLULOSE MULCH(FOR HYDRO SEEDING),								/ 30			70 Paper /			
107.117	d 60% PAPER, 40% WOOD FIBER (50 LB BALES) 50 IB	300 Bag							Wood	\$11.80 /BAG	\$3,540.00	30 Wood	\$16.50	/BAG	\$4,950.00
	ESTIMATED PRIMARY AWARD TOTALS FOR SEEI	MULCH & MULCH	<u> </u>	<u> </u>			<u> </u>			80.80.80.80	\$56,840.00			33 (3)	\$102,182.00

SOL	IFB 11-2981CD ), FERTILIZER, HERBICIDES, and OTHE CHEMICALS	R RELATE	ED AQUATIC	2315 Zipp	od Service, Inc. erer Raod n, FL 34212		Sunbelt So 819 9th St Ruskin, FL			Pennington 1280 Atlant Madison, G	ta HWY		Diamond R Fe 4100 Glades Ft. Pierce, FL	Cutoff Road	Inc.	
ITEM	PRODUCT NAME	CONTAINER SIZE	EST. QTY.	ALTERNATE	UNIT PRICE	EXTENDED PRICE	ALTERNATE	UNIT PRICE	EXTENDED PRICE	ALTERNATE	UNIT PRICE	EXTENDED PRICE	ALTERNATE	UNIT PR	ICF	EXTENDED PRICE
	LIZERS		201. 0.11.	AETERIORE	CHITTINGE	7.1.0	ALTERIORIE	CHITTINGE		AETERRATE	CHITTINGE	1	ACTENIA	O THIT I THE	.02	
	6-2-16 FERTILIZER, w/ Slow Release Nitrogen			30 S S								SS 88 88 8				
1	(NO SUBSTITUTIONS)	BAGS	30,000 LB						86 - 8886 - 88 · ·		88 88 88 88 88 <b>8</b>			\$0.336	/LB	\$10,080.00
	15-0-15 FERTILIZER W/ .67% RONSTAR AND SLOW RELEASE NITROGEN <b>(NO</b>															
2	SUBSTITUTIONS)	BAGS	20,000 LB											\$0.791	/LB	\$15,820.00
	ESTIMATED PRIMARY AWARD TOTAL	S FOR FER	RTILIZERS													\$10,080.00
HERB	ICIDES/ ALGICIDES															
1	VETERAN 720	2.5 gal	2 EA									3 3 3 3			<u> </u>	
2	ISOPROPYLAMINE SALT OF GLYPHOSATE	2.5 gal	24 EA								\$20.00 /EA	\$480.00			80.80	38.88.38.3
3	ROUNDUP PRO	2.5 gal	200 EA	3 3 3									Glystar Pro	\$24.50	/EA	\$4,900.00
4	a. WEEDAR 64 (AQUATIC LABEL) (NO SUBS)	2.5 gal	15 EA						8 88 8 B			3 3 3 3				33. 33. 33. 3
	b. WEEDAR 64 (AQUATIC LABEL) (NO SUBS)	30 gal	10 EA	\$3.0 S											33.33	
5	a. RODEO, AQUA CLEAR	2.5 gal	10 EA	20. 20. 20					2 22 2						3 3	
	b. RODEO, AQUA CLEAR (RETURNABLE CONTAINER)	30 gal	50 EA												***	
6	SONAR Q (NO SUBSITUTITIONS)	40 lb	30 EA													
7	SONAR (A.S) (NO SUBSTITUTIONS)	1 gal	5 GL													
8	SILKEN, KINETIC SENCOR 75 TURF (NO SUBSTITUTIONS)	1 gal 5 lb	150 GL	30 30 30												
9			4 EA	201 201 201										#00.40	(E.A.	#700 00
10 11	MEC AMINE-D a. TRAN XIT GTA (NO SUBSTITUTIONS)	2.5 gal	20 EA	00000000000					00 0000 00 00 0000 00				Weedar 64	\$36.40	/EA	\$728.00
11		5 oz	10 EA	20 20 20												
12	b. TRAN XIT GTA (NO SUBSTITUTIONS)  MONUMENT 75WG (NO SUBSTITUTIONS)	15 oz 5x5 gram	2 EA 12 EA	20010101010100											30 30	
13	GARLON 4 (GENERICS ALLOWED)	2.5 gal	12 EA													
14	a GARLON 3A (GENERICS ALLOWED)	2.5 gal	250 EA													
	b GARLON 3A (GENERICS ALLOWED)	30 GAL	20 EA													
15	PLATEAU (NO SUBSTITUTIONS)	2.5 gal	100 EA													
16	MILESTONE VM (NO SUBSTITUTIONS)	2.5 gal	40 EA													
	ESTIMATED PRIMARY AWARD TOTAL NON AGENCY											\$480.00	)			\$728.00
	ESTIMATED AWARD TOTALS FOR HE	RBICIDES-	AGENCY													

soı	IFB 11-2981CD D, FERTILIZER, HERBICIDES, and OTHE CHEMICALS	R RELATE	ED AQUATIC	2315 Zipp	od Service, Inc erer Raod n, FL 34212		Sunbelt Sc 819 9th Sti Ruskin, FL			Pennington 1280 Atlant Madison, G	a HWY		Diamond R Fo 4100 Glades Ft. Pierce, FL	Cutoff Road		
ITEM	PRODUCT NAME	CONTAINER SIZE	EST. QTY.	ALTERNATE	UNIT PRICE	EXTENDED PRICE	ALTERNATE	UNIT PRICE	EXTENDED PRICE	ALTERNATE	UNIT PRICE	EXTENDED PRICE	ALTERNATE	UNIT PRI	ll ll	EXTENDED PRICE
FUNG	ICIDES	1				1				"					- I	
1	ALIETTE WDG (GENERICS ALLOWED)	5.5 lb	5 EA											\$103.40	/EA	\$517.00
	ESTIMATED PRIMARY AWARD FUNGIO	CIDES													30 - 30 30 - 30	\$0.00
INSE	CTICIDES															
1	ORTHENE	10 lb	10 EA	30 30 30						· · · · · · · · · · · ·				\$59.00	/EA	\$590.00
2	a. AMDRO 1LB (NO SUBSTITUTIONS)	1 lb	10 LB	30 30 30							\$11.20 /Lb	\$112.00		30.00.00	33 33	30 30 30 3
	b. AMDRO 25LB (NO SUBSTITUTIONS)	25 lb	20 EA								\$175.00 /EA	\$3,500.00				200000000000000000000000000000000000000
3	TOPCHOICE (NO SUBSTITUTIONS)	50 lb	100 EA										0.0000000000000000000000000000000000000		000000	0001000100010
4	TALSTAR F	1 gal	40 GL										Upstar Gold	\$28.90	/GL	\$1,156.00
5	ALOFT LC SC (NO SUBSTITUTIONS)	64 oz	20 EA	8 8 8												
	ESTIMATED PRIMARY AWARD TOTALS NON AGENCY	S FOR INS	SECTICIDES-									\$0.00				\$1,746.00
	ESTIMATED AWARD TOTALS FOR INS	ECTICIDE	S- AGENCY													
ADJU	VANTS & ADDITIVES															
1	DEFOAMER	1 quart	120 quart													
2	LOVELAND X-77 SPREADER	1 gal	500 GL													
3	PROMATE ACCURACY, WINDBRAKE, AIRTIGHT (NO SUBSTITUTIONS)	1 quart	2,000 quart											\$8.90	/QT	\$17,800.00
	ESTIMATED PRIMARY AWARD TOTALS ADDITIVES	S FOR AD	JUVANTS &													\$17,800.00
	ESTIMATED GRAND TOTALS BY	PRIMAR	Y AWARD		\$113,948.0	00		\$30,602.52			\$57,320.00			\$132,536	6.00	
	ESTIMATED GRAND TOTALS BY	AGENC'	Y ITEMS		\$0.00			\$0.00			\$0.00			\$0.00	)	

Yellow Highlighted Items = Primary Award
Green Highlighted Items = Agency Items

For all Non highlighted items showing under vendors name, this demonstrates a secondary vendor award.

SOE	IFB 11-2981CD D, FERTILIZER, HERBICIDES, and OTHER CHEMICALS	RELATE	D AQUATIC	John Deere 1385 East 3 Cleveland,			Harrell's LLC 720 Kraft Roa Lakeland, FL			Helena Cher P.O. Box 17 Dade City, F	58	
ITEM	PRODUCT NAME	CONTAINER SIZE	EST. QTY.	ALTERNATE	UNIT PRICE	EXTEIDED PRICE	ALTERNATE	UNIT PRICE	EXTENDED PRICE	ALTERNATE	UNIT PRICE	EXTEfDED PRICE
SODS	-			7					-			
1	BAHIA SOD											
Α	1-4 PALLETS (400 SF - 1,999 SF)											
	a. DELIVERED AND SPOT PLACED		6,000 SF									
	<b>b</b> COUNTY PICK UP		800 SF									
	c DELIVERED & INSTALLED (Pallet Sod)		4,000 SF									
В	5-9 PALLETS (2,000 SF - 3,999 SF)											
	a. DELIVERED AND SPOT PLACED		5,600 SF									
	<b>b</b> DELIVERED & INSTALLED (Pallet Sod)		7,600 SF									
	c SLOPE DELIVERY & INSTALLATION (Pallet Sod)		1,800 SF									
С	10-24 PALLETS (4,000 SF - 9,999 SF)											
	a. DELIVERED AND SPOT PLACED		4,000 SF									400000000000000000000000000000000000000
	<b>b</b> DELIVERED & INSTALLED (Pallet Sod)		8,000 SF									
	c SLOPE DELIVERY & INSTALLATION (Pallet Sod)		12,500 SF									
D	25 PALLETS OR MORE (10,000 SF OR MORE)											
	a. DELIVERED & INSTALLED (Pallet Sod)		225,000 SF									
	<b>b</b> SLOPE DELIVERY & INSTALLATION (Pallet Sod)	30 30	400,000 SF		<u> </u>							
2	ST. AUGUSTINE- FLORATAM									Waterstein		
A	1-4 PALLETS (400 SF - 1,999 SF)						} }					:::::::::::::::::::::::::::::::::::::
	a. DELIVERED AND SPOT PLACED		7,600 SF									
	<b>b</b> COUNTY PICK UP		800 SF									
	c DELIVERED & INSTALLED (Pallet Sod)		3,200 SF									
	d SLOPE DELIVERY & INSTALLATION (Pallet Sod)		250 SF									
В	5-9 PALLETS (2,000 SF - 3,999 SF)											
	a. DELIVERED AND SPOT PLACED		2,500 SF									
	c DELIVERED & INSTALLED (Pallet Sod)		4,800 SF									

SOE	IFB 11-2981CD ), FERTILIZER, HERBICIDES, and OTHE CHEMICALS	R RELATE	D AQUATIC		e Landscap 36th Street OH 44114	es		Harrell's LLC 720 Kraft Ro Lakeland, FL	ad		Helena Che P.O. Box 17 Dade City, F	758	
ITEM	PRODUCT NAME	CONTAINER SIZE	EST. QTY.	ALTERNATE	UNIT PI	RICE	EXTEFDED PRICE	ALTERNATE	UNIT PRICE	EXTENDED PRICE	ALTERNATE	UNIT PRICE	EXTEFDED PRICE
3	419 BERMUDA SOD			<b> </b>									
		V											
Α	1-4 PALLETS (400 SF - 1,999 SF)								r	1			00000000000000000000000000000000000000
	a. DELIVERED AND SPOT PLACED		500 SF										
	<b>b</b> COUNTY PICK UP		800 SF										
	c DELIVERED & INSTALLED (Pallet Sod)		1,600 SF										
	d ROLLED SOD- DELIVERED & INSTALLED		200 SF										
В	5-9 PALLETS (2,000 SF - 3,999 SF)	***											
	C DELIVERED & INSTALLED (Pallet Sod)		8,000 SF										
	d ROLLED SOD- DELIVERED & INSTALLED		4,000 SF										
С	10-24 PALLETS (4,000 SF - 9,999 SF)												
	c DELIVERED & INSTALLED (Pallet Sod)		12,000 SF										
	d ROLLED SOD- DELIVERED & INSTALLED		4,000 SF										
D	25 PALLETS OR MORE (10,000 SF OR MORE)												
	C DELIVERED & INSTALLED (Pallet Sod)		38,000 SF										
	d ROLLED SOD- DELIVERED & INSTALLED		1,000 SF										
4	STAKE/STAPLES (INSTALLED BY VEN	DOR)	,										
	C STAPLES (COUNTY SUPPLIED)	[	1 EA										
	d STAPLES (VENDOR SUPPLIED)		10,000 SF										
**	ESTIMATED PRIMARY AWARD T	OTALS FO	OR SOD										
SEEDS	S & MULCH			000000000				***********			0000000000		
1	NON GOLF COURSE SEED (50 POUND BAGS)	,											
	a. PENSACOLA BAHIA SEED	50 IB	400 Bag										
	b. RYE GRASS (OCT THRU MARCH)	50 IB	340 Bag										
	c. BROWN TOP MILLET (APRIL THRU SEPT.)	50 IB	340 Bag										
	d. BERMUDA SEED (HULLED)	50 IB	500 Bag										
2	MULCH (50 POUND BAGS) a. CYPRESS MULCH (Grade "A")	1 1	500 Bag	3 cf /bag	\$5.50	/BAG	\$2,750.00		leacean each	ha dan dan dan			:
	b. PREMIUM SHREDDED CYPRESS		400 Bag	3 CI /bag	Ψ0.00	7BAC	Ψ <u>2,700.00</u>						
	c MALALUAKA MULCH- FLORAMULCH ®		500 Bag										010000000000000000000000000000000000000
	CELLULOSE MULCH(FOR HYDRO SEEDING),												
	d 60% PAPER, 40% WOOD FIBER (50 LB BALES)	50 IB	300 Bag										
33. 3	ESTIMATED PRIMARY AWARD TOTALS	S FOR SEE	ED & MULCH		22 22 23		\$2,750.00					93 93 93 933	93.193.193.193

SOD	IFB 11-2981CD , FERTILIZER, HERBICIDES, and OTHE CHEMICALS	D AQUATIC		e Landscapes 36th Street OH 44114		Harrell's LLC 720 Kraft Ro Lakeland, FL	ad			Helena Che P.O. Box 17 Dade City, I	758			
ITEM	PRODUCT NAME	CONTAINER SIZE	EST. QTY.	ALTERNATE	UNIT PRICE	EXTEIDED PRICE	ALTERNATE	UNIT PR	ICE	EXTENDED PRICE	ALTERNATE	UNIT PI	RICE	EXTEfDED PRICE
<b>FERTI</b>	LIZERS								<u> </u>					
1	6-2-16 FERTILIZER, w/ Slow Release Nitrogen (NO SUBSTITUTIONS)	BAGS	30,000 LB					\$0.417	/LB	\$12,510.00				
2	15-0-15 FERTILIZER W/ .67% RONSTAR AND SLOW RELEASE NITROGEN (NO SUBSTITUTIONS)	BAGS	20,000 LB					\$0.750	/LB	\$15,000.00				
	ESTIMATED PRIMARY AWARD TOTALS	S FOR FER	RTILIZERS							\$15,000.00				
HERB	CIDES/ ALGICIDES													
1	VETERAN 720	2.5 gal	2 EA	33 33 33					30 30			\$67.50	/EA	\$135.00
2	ISOPROPYLAMINE SALT OF GLYPHOSATE	2.5 gal	24 EA										333	S S S S
3	ROUNDUP PRO	2.5 gal	200 EA											
4	a. WEEDAR 64 (AQUATIC LABEL) (NO SUBS)	2.5 gal	15 EA									\$34.75	/EA	\$521.25
	b. WEEDAR 64 (AQUATIC LABEL) (NO SUBS)	30 gal	10 EA	30.30.30					30.30			\$414.00	/EA	\$4,140.00
5	a. RODEO, AQUA CLEAR	2.5 gal	10 EA								Rodeo	\$29.37	/EA	\$293.70
	b. RODEO, AQUA CLEAR (RETURNABLE CONTAINER)	30 gal	50 EA								Rodeo	\$352.50	/EA	\$17,625.00
6	SONAR Q (NO SUBSITUTITIONS)	40 lb	30 EA								AGENCY	\$998.00	/EA	\$29,940.00
7	SONAR (A.S) (NO SUBSTITUTIONS)	1 gal	5 GL								AGENCY		/GL	\$8,490.00
8	SILKEN, KINETIC	1 gal	150 GL								Silnet 200	\$32.88	/GL	\$4,932.00
9	SENCOR 75 TURF (NO SUBSTITUTIONS)	5 lb	4 EA	30.30.33					<u> </u>			\$339.50	/EA	\$1,358.00
10	MEC AMINE-D	2.5 gal	20 EA	00 00 00										
11	a. TRAN XIT GTA (NO SUBSTITUTIONS)	5 oz	10 EA								5 oz	\$330.00	/EA	\$3,300.00
	b. TRAN XIT GTA (NO SUBSTITUTIONS)	15 oz	2 EA									\$990.00	/EA	\$1,980.00
12	MONUMENT 75WG (NO SUBSTITUTIONS)	5x5 gram	12 EA	00 00 00 00 00 00							AGENCY	\$240.00	/EA	\$2,880.00
13	GARLON 4 (GENERICS ALLOWED)	2.5 gal	12 EA								Element 4	\$121.25	/EA	\$1,455.00
14	a GARLON 3A (GENERICS ALLOWED)	2.5 gal	250 EA		30 30 300 3									8 8 8 8
	b GARLON 3A (GENERICS ALLOWED)	30 GAL	20 EA											
15	PLATEAU (NO SUBSTITUTIONS)	2.5 gal	100 EA											
16	MILESTONE VM (NO SUBSTITUTIONS)	2.5 gal	40 EA									\$749.32	/EA	\$29,972.80
	ESTIMATED PRIMARY AWARD TOTALS FOR HERBICIDES- NON AGENCY													\$28,831.70
	ESTIMATED AWARD TOTALS FOR HEF											\$41,310.00		

SOE	IFB 11-2981CD D, FERTILIZER, HERBICIDES, and OTHE CHEMICALS	ER RELATE	D AQUATIC	John Deere 1385 East 3 Cleveland, (			Harrell's LLC 720 Kraft Roa Lakeland, FL	ad		Helena Cher P.O. Box 175 Dade City, F	58	
ITEM	PRODUCT NAME	CONTAINER SIZE	EST. QTY.	ALTERNATE	UNIT PRICE	EXTEfDED PRICE	ALTERNATE	UNIT PRICE	EXTENDED PRICE	ALTERNATE	UNIT PRICE	EXTEfDED PRICE
FUNG	ICIDES					!				1		
1	ALIETTE WDG (GENERICS ALLOWED)	5.5 lb	5 EA									
	ESTIMATED PRIMARY AWARD FUNGI	CIDES										
INSEC	CTICIDES											
1	ORTHENE	10 lb	10 EA				Acephate 97	\$67.50 /EA	\$675.00			
2	a. AMDRO 1LB (NO SUBSTITUTIONS)	1 lb	10 LB	3.3.3.				\$11.00 /EA	\$110.00			
	b. AMDRO 25LB (NO SUBSTITUTIONS)	25 lb	20 EA									
3	TOPCHOICE (NO SUBSTITUTIONS)	50 lb	100 EA							***************************************	\$162.50 /EA	\$16,250.00
4	TALSTAR F	1 gal	40 GL									
5	ALOFT LC SC (NO SUBSTITUTIONS)	64 oz	20 EA								\$465.60 /EA	\$9,312.00
	ESTIMATED PRIMARY AWARD TOTAL NON AGENCY	S FOR INSI	ECTICIDES-						\$110.00			\$9,312.00
	ESTIMATED AWARD TOTALS FOR INS	SECTICIDES	S- AGENCY									\$16,250.00
ADJU'	VANTS & ADDITIVES											
1	DEFOAMER	1 quart	120 quart									
2	LOVELAND X-77 SPREADER	1 gal	500 GL									
3	PROMATE ACCURACY, WINDBRAKE, AIRTIGHT (NO SUBSTITUTIONS)	1 quart	2,000 quart								\$9.18 /Qt	\$18,360.00
	ESTIMATED PRIMARY AWARD TOTAL ADDITIVES	UVANTS &									\$0.00	
	ESTIMATED GRAND TOTALS BY	PRIMAR	Y AWARD		\$2,750.00			\$15,110.00			\$38,143.70	
	ESTIMATED GRAND TOTALS BY	ITEMS		\$0.00			\$0.00			\$57,560.00		

Yellow Highlighted Items = Primary Award
Green Highlighted Items = Agency Items

For all Non highlighted items showing under vendors name, this demonstrates a secondary vendor award.

SOE	IFB 11-2981CD D, FERTILIZER, HERBICIDES, and OTHER CHEMICALS	RELATE	D AQUATIC	Southern Agr 7400 Baysho Rubonia, FL			Crop Product 2100 Moores Mulberry, FL	Lane			nced Technologie Mountain Ave, #40 80538	00
ITEM		CONTAINER SIZE	EST. QTY.	ALTERNATE	UNIT PRICE	EXTEFDED PFICE	ALTERNATE	UNIT PRICE	EXTEfDED PfICE	ALTERNATE	UNIT PRICE	EXTENDED PRICE
SODS						<u>"</u>			<u> </u>	,		1
1	BAHIA SOD											
Α	1-4 PALLETS (400 SF - 1,999 SF)											
	a. DELIVERED AND SPOT PLACED		6,000 SF									
	<b>b</b> COUNTY PICK UP		800 SF									
	c DELIVERED & INSTALLED (Pallet Sod)		4,000 SF									
В	5-9 PALLETS (2,000 SF - 3,999 SF)											
	a. DELIVERED AND SPOT PLACED		5,600 SF									
	<b>b</b> DELIVERED & INSTALLED (Pallet Sod)		7,600 SF									
	c SLOPE DELIVERY & INSTALLATION (Pallet Sod)		1,800 SF									
С	10-24 PALLETS (4,000 SF - 9,999 SF)											
	a. DELIVERED AND SPOT PLACED		4,000 SF									
	<b>b</b> DELIVERED & INSTALLED (Pallet Sod)		8,000 SF									
	c SLOPE DELIVERY & INSTALLATION (Pallet Sod)		12,500 SF									
D	25 PALLETS OR MORE (10,000 SF OR MORE)											
	a. DELIVERED & INSTALLED (Pallet Sod)		225,000 SF									
			·									
	<b>b</b> SLOPE DELIVERY & INSTALLATION (Pallet Sod)	100 100	400,000 SF	(00)00000000000000000000000000000000000		900000000000000000000000000000000000000	afectoristics control		(2008)260000000000			\$6000000000000000
II	ST. AUGUSTINE- FLORATAM	100.100.1	000000000000000	000000000000000000000000000000000000000			1000000000000000			<b>(</b> 1000000000000000000000000000000000000		
А	1-4 PALLETS (400 SF - 1,999 SF)		80488488488									<b>,</b>
	a. DELIVERED AND SPOT PLACED		7,600 SF									
11	<b>b</b> COUNTY PICK UP		800 SF									
	C DELIVERED & INSTALLED (Pallet Sod)		3,200 SF									
	d SLOPE DELIVERY & INSTALLATION (Pallet Sod)		250 SF									
В	5-9 PALLETS (2,000 SF - 3,999 SF)											
	a. DELIVERED AND SPOT PLACED		2,500 SF									
	c DELIVERED & INSTALLED (Pallet Sod)		4,800 SF									

SOE	IFB 11-2981CD D, FERTILIZER, HERBICIDES, and OTHEF CHEMICALS	R RELATE	ED AQUATIC	Southern Ag 7400 Baysho Rubonia, FL			Crop Production 2100 Moores Mulberry, FL 3	Lane			nced Technologie Mountain Ave, #40 80538	00
ITEM	PRODUCT NAME	CONTAINER SIZE	EST. QTY.	ALTERNATE	UNIT PRICE	EXTEFDED PfICE	ALTERNATE	UNIT PRICE	EXTEFDED PFICE	ALTERNATE	UNIT PRICE	EXTENDED PRICE
3	419 BERMUDA SOD											
Α	1-4 PALLETS (400 SF - 1,999 SF)					4						
	a. DELIVERED AND SPOT PLACED		500 SF									
	<b>b</b> COUNTY PICK UP		800 SF									
	C DELIVERED & INSTALLED (Pallet Sod)		1,600 SF									
	d ROLLED SOD- DELIVERED & INSTALLED		200 SF									
В	5-9 PALLETS (2,000 SF - 3,999 SF)											
	c DELIVERED & INSTALLED (Pallet Sod)		8,000 SF									
	d ROLLED SOD- DELIVERED & INSTALLED		4,000 SF									
С	10-24 PALLETS (4,000 SF - 9,999 SF)		8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8									900000000000000000000000000000000000000
	c DELIVERED & INSTALLED (Pallet Sod)		12,000 SF									
	d ROLLED SOD- DELIVERED & INSTALLED		4,000 SF									
D	25 PALLETS OR MORE (10,000 SF OR MORE)											
	C DELIVERED & INSTALLED (Pallet Sod)		38,000 SF									
	d ROLLED SOD- DELIVERED & INSTALLED		1,000 SF									
4	STAKE/STAPLES (INSTALLED BY VENI	DOR)										
	C STAPLES (COUNTY SUPPLIED)		1 EA									
23 23	d STAPLES (VENDOR SUPPLIED)  ESTIMATED PRIMARY AWARD TO	OTAL C E	10,000 SF						<u> </u>			
SEED	S & MULCH	OTALS FO	JK 50D		***********	************	400000000000000	000000000000000000000000000000000000000	**********	*************	000000000000000000000000000000000000000	0000000000000000
4	NON GOLF COURSE SEED (50 POUND BAGS)			800000000000000000000000000000000000000			8 0000000000000000000000000000000000000		*********	3 583333333333		
	a. PENSACOLA BAHIA SEED	50 IB	400 Bag									
	b. RYE GRASS (OCT THRU MARCH)	50 IB	340 Bag									
	c. BROWN TOP MILLET (APRIL THRU SEPT.)	50 IB	340 Bag									
	d. BERMUDA SEED (HULLED)	50 IB	500 Bag									
2	MULCH (50 POUND BAGS)											
	a. CYPRESS MULCH (Grade "A")		500 Bag					•				
	b. PREMIUM SHREDDED CYPRESS		400 Bag									
	c MALALUAKA MULCH- FLORAMULCH <sup>®</sup>		500 Bag									
	CELLULOSE MULCH(FOR HYDRO SEEDING), d 60% PAPER, 40% WOOD FIBER (50 LB BALES)	50 IB	300 Bag									
	ESTIMATED PRIMARY AWARD TOTALS	ED & MULCH										

SOE	IFB 11-2981CD D, FERTILIZER, HERBICIDES, and OTHE CHEMICALS	R RELATE	ED AQUATIC	Southern Ag 7400 Baysho Rubonia, FL	re Road	ecticides		Crop Product 2100 Moores Mulberry, FL	Lane	6			nced Technologie Mountain Ave, #40 0 80538	00
ITEM	PRODUCT NAME	CONTAINER SIZE	EST. QTY.	ALTERNATE	UNIT PR	ICE	EXTEIDED PICE	ALTERNATE	UNIT PR	ICE	EXTEFDED PfICE	ALTERNATE	UNIT PRICE	EXTENDED PRICE
FERTI	ILIZERS		1		<u> </u>									
1	6-2-16 FERTILIZER, w/ Slow Release Nitrogen (NO SUBSTITUTIONS)	BAGS	30,000 LB											
2	15-0-15 FERTILIZER W/ .67% RONSTAR AND SLOW RELEASE NITROGEN (NO SUBSTITUTIONS)	BAGS	20,000 LB											
	ESTIMATED PRIMARY AWARD TOTALS	<u>I</u>	<u> </u>											
HERB	ICIDES/ ALGICIDES													
1	VETERAN 720	2.5 gal	2 EA	8 8 8		88 88						8 8 8 8		
2	ISOPROPYLAMINE SALT OF GLYPHOSATE	2.5 gal	24 EA			***								
3	ROUNDUP PRO	2.5 gal	200 EA											
4	a. WEEDAR 64 (AQUATIC LABEL) (NO SUBS)	2.5 gal	15 EA						\$13.90	/GL	\$521.25			
	b. WEEDAR 64 (AQUATIC LABEL) (NO SUBS)	30 gal	10 EA			* *			\$13.90	/GL	\$4,170.00			
5	a. RODEO, AQUA CLEAR	2.5 gal	10 EA			***								
	b. RODEO, AQUA CLEAR (RETURNABLE CONTAINER)	30 gal	50 EA											
6	SONAR Q (NO SUBSITUTITIONS)	40 lb	30 EA			3 3		AGENCY	\$24.95	/Lb	\$29,940.00			
7	SONAR (A.S) (NO SUBSTITUTIONS)	1 gal	5 GL					AGENCY	\$1,698.00	/GL	\$8,490.00			
8	SILKEN, KINETIC	1 gal	150 GL					Silnet 200	\$31.20	/GL	\$4,680.00			
9	SENCOR 75 TURF (NO SUBSTITUTIONS)	5 lb	4 EA									3 3 3 3	\$343.75 /EA	\$1,375.00
10	MEC AMINE-D	2.5 gal	20 EA			3 3							\$50.00 /EA	\$1,000.00
11	a. TRAN XIT GTA (NO SUBSTITUTIONS)	5 oz	10 EA	5 oz only	\$340.00	/EA	\$3,400.00							
	b. TRAN XIT GTA (NO SUBSTITUTIONS)	15 oz	2 EA	5 oz only	\$340.00	/EA	\$2,040.00							
12	MONUMENT 75WG (NO SUBSTITUTIONS)	5x5 gram	12 EA	AGENCY	\$240.00	/EA	\$2,880.00					AGENCY	\$240.00 /EA	\$2,880.00
13	GARLON 4 (GENERICS ALLOWED)	2.5 gal	12 EA			**	30 30 30 3							
14	a GARLON 3A (GENERICS ALLOWED)	2.5 gal	250 EA					Element 3A	\$37.10	/GL	\$23,187.50			
	b GARLON 3A (GENERICS ALLOWED)	30 GAL	20 EA			3 3		Element 3A	\$37.10	/GL	\$22,260.00			
15	PLATEAU (NO SUBSTITUTIONS)	2.5 gal	100 EA						\$120.00	/GL	\$30,000.00			
16	MILESTONE VM (NO SUBSTITUTIONS)	2.5 gal	40 EA						\$290.00	/GL	\$29,000.00			
	ESTIMATED PRIMARY AWARD TOTALS NON AGENCY	RBICIDES-				\$0.00				\$64,201.25			\$0.00	
	ESTIMATED AWARD TOTALS FOR HEF	AGENCY				\$2,880.00				\$38,430.00			\$2,880.00	

SOE	IFB 11-2981CD ), FERTILIZER, HERBICIDES, and OTHEI CHEMICALS	R RELATE	ED AQUATIC	Southern Agr 7400 Baysho Rubonia, FL 3			Crop Producti 2100 Moores Mulberry, FL 3	Lane			nced Technologies Mountain Ave, #40 D 80538	0
ITEM	PRODUCT NAME	CONTAINER SIZE	EST. QTY.	ALTERNATE	UNIT PRICE	EXTEFDED PFICE	ALTERNATE	UNIT PRICE	EXTEFDED PFICE	ALTERNATE	UNIT PRICE	EXTENDED PRICE
FUNG			<u> </u>	ALTERNATIO	CHITTHOL	<u>                                     </u>	ACTENIANTE	OIII I I II OL		ACTEMOTIC	OTAT T TABLE	
1	ALIETTE WDG (GENERICS ALLOWED)	5.5 lb	5 EA									
	ESTIMATED PRIMARY AWARD FUNGIO		-									
INSEC	TICIDES	JIDEO			*************		<b>  </b>	****************		J		
1	ORTHENE	10 lb	10 EA	::::::::::::::::::::::::::::::::::::::	8 100 1000 1000		100000000000000000000000000000000000000	88.888.888888888		300.000.000	3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3	88888888888
2	a. AMDRO 1LB (NO SUBSTITUTIONS)	1 lb	10 LB									
	b. AMDRO 25LB (NO SUBSTITUTIONS)	25 lb	20 EA		\$173.75 /EA	\$3,475.00						
3	TOPCHOICE (NO SUBSTITUTIONS)	50 lb	100 EA		\$162.50 /EA	\$16,250.00					\$162.50 /EA	\$16,250.00
4	TALSTAR F	1 gal	40 GL								\$30.00 /EA	\$1,200.00
5	ALOFT LC SC (NO SUBSTITUTIONS)	64 oz	20 EA								\$495.00 /EA	\$9,900.00
	ESTIMATED PRIMARY AWARD TOTALS NON AGENCY	S FOR INS	SECTICIDES-			\$3,475.00						\$0.00
	ESTIMATED AWARD TOTALS FOR INSI	ECTICIDE	S- AGENCY			\$16,250.00						\$16,250.00
ADJU	/ANTS & ADDITIVES											
1	DEFOAMER	1 quart	120 quart		\$4.50 /QT	\$540.00						
2	LOVELAND X-77 SPREADER	1 gal	500 GL				Spreader 90	\$9.46 /GL	\$4,730.00			
3	PROMATE ACCURACY, WINDBRAKE, AIRTIGHT (NO SUBSTITUTIONS)	1 quart	2,000 quart									
	ESTIMATED PRIMARY AWARD TOTALS ADDITIVES	JUVANTS &			\$0.00			\$0.00	)			
	ESTIMATED GRAND TOTALS BY	Y AWARD		\$3,475.00			\$64,201.25			\$0.00		
	ESTIMATED GRAND TOTALS BY	YITEMS		\$19,130.00			\$38,430.00			\$19,130.00		

Yellow Highlighted Items	= Primary Award
Green Highlighted Items	= Agency Items

For all Non highlighted items showing under vendors name, this demonstrates a secondary vendor award.

SOI	IFB 11-2981CD D, FERTILIZER, HERBICIDES, and OTHER CHEMICALS	RRELATE	ED AQUATIC	Red River Sp 1013 NW Su Branford, FL	wannee Ave		Univar USA Ir 5051 L.B McL Orlanddo, FL	eod Rd, Suite D		AlliGare LLC 13 N. 8th St Opelika, AL	reet		CWC Che 214 Simmo Cloverdale		
ITEM	PRODUCT NAME	CONTAINER SIZE	EST. QTY.	ALTERNATE	UNIT PRICE	EXTENDED PRICE	ALTERNATE	UNIT PRICE	EXTENDED PRICE	ALTERNATE	UNIT PRICE	EXTENDED PRICE	ALTERNATE	UNIT PRICE	EXTENDED PRICE
SODS			,				"		II.	11		<u> </u>	1		
1	BAHIA SOD														
Α	1-4 PALLETS (400 SF - 1,999 SF)														
	a. DELIVERED AND SPOT PLACED		6,000 SF												
	<b>b</b> COUNTY PICK UP		800 SF												
	c DELIVERED & INSTALLED (Pallet Sod)		4,000 SF												
В	5-9 PALLETS (2,000 SF - 3,999 SF)														
	a. DELIVERED AND SPOT PLACED		5,600 SF												
	<b>b</b> DELIVERED & INSTALLED (Pallet Sod)		7,600 SF												
	c SLOPE DELIVERY & INSTALLATION (Pallet Sod)		1,800 SF												
С	10-24 PALLETS (4,000 SF - 9,999 SF)		60000000000000000000000000000000000000												
	a. DELIVERED AND SPOT PLACED		4,000 SF												
	<b>b</b> DELIVERED & INSTALLED (Pallet Sod)		8,000 SF												
	c SLOPE DELIVERY & INSTALLATION (Pallet Sod)		12,500 SF												
D	25 PALLETS OR MORE (10,000 SF OR MORE)														
	a. DELIVERED & INSTALLED (Pallet Sod)		225,000 SF												
	:														
	<b>b</b> SLOPE DELIVERY & INSTALLATION (Pallet Sod)	× 300 × 300 ×	400,000 SF	000000000000000000000000000000000000000		900000000000000000000000000000000000000	(00000000000000000000000000000000000000					\$00000000000000000000000000000000000000			
2	ST. AUGUSTINE- FLORATAM												Postania de la composición dela composición de la composición de la composición de la composición dela composición dela composición dela composición de la composición dela composición dela composición dela composición dela composición dela composición dela composi		
A	1-4 PALLETS (400 SF - 1,999 SF)		30 · 30 · 30 · 30 · 30 ·				(								
	a. DELIVERED AND SPOT PLACED		7,600 SF												
	<b>b</b> COUNTY PICK UP		800 SF												
	C DELIVERED & INSTALLED (Pallet Sod)		3,200 SF												
	d SLOPE DELIVERY & INSTALLATION (Pallet Sod)		250 SF												
В	5-9 PALLETS (2,000 SF - 3,999 SF)						1		ĺ				1		
	a. DELIVERED AND SPOT PLACED		2,500 SF												
	c DELIVERED & INSTALLED (Pallet Sod)	33 33	4,800 SF												

SOE	IFB 11-2981CD , FERTILIZER, HERBICIDES, and OTHER RELATED CHEMICALS		Red River Sp 1013 NW Sur Branford, FL			Univar USA I 5051 L.B McI Orlanddo, FL	eod Rd, Suite D		AlliGare LL 13 N. 8th S Opelika, Al	Street		CWC Che 214 Simmo Cloverdale		
ITEM	PRODUCT NAME CONTAINER SIZE	EST. QTY.	ALTERNATE	UNIT PRICE	EXTENDED PRICE	ALTERNATE	UNIT PRICE	EXTENDED PRICE	ALTERNATE	UNIT PRICE	EXTENDED PRICE	ALTERNATE	UNIT PRICE	EXTENDED PRICE
3	419 BERMUDA SOD					•								
	1000000000	23 23 23	0.0000000000000000000000000000000000000		000000000000000000000000000000000000000	000000000000000000000000000000000000000		acanananan	000000000000000000000000000000000000000			3 0000000000000000000000000000000000000		200020000000000000000000000000000000000
Α	1-4 PALLETS (400 SF - 1,999 SF)													
	a. DELIVERED AND SPOT PLACED	500 SF												
	<b>b</b> COUNTY PICK UP	800 SF												
	C DELIVERED & INSTALLED (Pallet Sod)	1,600 SF												
	d ROLLED SOD- DELIVERED & INSTALLED	200 SF												
В	5-9 PALLETS (2,000 SF - 3,999 SF)													
	C DELIVERED & INSTALLED (Pallet Sod)	8,000 SF												
	d ROLLED SOD- DELIVERED & INSTALLED	4,000 SF												
С	10-24 PALLETS (4,000 SF - 9,999 SF)	**************************************												
	C DELIVERED & INSTALLED (Pallet Sod)	12,000 SF												
	d ROLLED SOD- DELIVERED & INSTALLED	4,000 SF												
D	25 PALLETS OR MORE (10,000 SF OR MORE)													
	n de la companya del companya de la companya del companya de la co	38,000 SF												
	d ROLLED SOD- DELIVERED & INSTALLED	1,000 SF												
	STAKE/STAPLES (INSTALLED BY VENDOR)													
	C STAPLES (COUNTY SUPPLIED)	1 EA												
000000	d STAPLES (VENDOR SUPPLIED)  ESTIMATED PRIMARY AWARD TOTALS FOR	10,000 SF												
SEED	S & MULCH	С ООБ			*****************				*************					
	NON GOLF COURSE SEED (50 POUND BAGS)		***************************************							***************************************				888888888888888888888888888888888888888
	a. PENSACOLA BAHIA SEED 50 IB	400 Bag												
	b. RYE GRASS (OCT THRU MARCH) 50 IB	340 Bag												
	c. BROWN TOP MILLET (APRIL THRU SEPT.) 50 IB	340 Bag												
	d. BERMUDA SEED (HULLED) 50 IB	500 Bag												
2	MULCH (50 POUND BAGS)													
	a. CYPRESS MULCH (Grade "A")	500 Bag												
	b. PREMIUM SHREDDED CYPRESS	400 Bag												
	c MALALUAKA MULCH- FLORAMULCH <sup>®</sup>	500 Bag												
	CELLULOSE MULCH(FOR HYDRO SEEDING),													
	d 60% PAPER, 40% WOOD FIBER (50 LB BALES) 50 IB	300 Bag												
	ESTIMATED PRIMARY AWARD TOTALS FOR SEED	& MULCH												

SOI	IFB 11-2981CD D, FERTILIZER, HERBICIDES, and OTH CHEMICALS	ER RELATE	D AQUATIC	Red River Sp 1013 NW Sur Branford, FL	wannee Ave		Univar USA II 5051 L.B McL Orlanddo, FL	eod Rd, Suite D		AlliGare LL 13 N. 8th S Opelika, Al	treet			214 Simm	emical, Inc. ons Drive e, VA 24077		
ITEM	PRODUCT NAME	CONTAINER SIZE	EST. QTY.	ALTERNATE	UNIT PRICE	EXTENDED PRICE	ALTERNATE	UNIT PRICE	EXTENDED PRICE	ALTERNATE	UNIT PR	ICF	EXTENDED PRICE	ALTERNATE	UNIT PRIC	ll ll	XTENDED PRICE
	LIZERS					<u> </u>	<u> </u>		<u> </u>	1			I				
1	6-2-16 FERTILIZER, w/ Slow Release Nitrogen																
1	(NO SUBSTITUTIONS)	BAGS	30,000 LB									******					
	15-0-15 FERTILIZER W/ .67% RONSTAR AND SLOW RELEASE NITROGEN ( <b>NO</b>																
2	SUBSTITUTIONS)	BAGS	20,000 LB														
	ESTIMATED PRIMARY AWARD TOTAL	S EOD EE	TII 17ED6														
0.000	ESTIMATED PRIMART AWARD TOTAL	L3 FOR FER	TILIZENS	000000000000000000000000000000000000000	****************		400000000000000000000000000000000000000	***************		4				<u> </u>	000000000000000000000000000000000000000	10000000	
HERB	ICIDES/ ALGICIDES																
1	VETERAN 720	2.5 gal	2 EA												\$77.00	/EA	\$154.00
2	ISOPROPYLAMINE SALT OF GLYPHOSATE	2.5 gal	24 EA				<u> </u>			Glophosate 4+	\$24.25	/EA	\$582.00	)  :: : : : : <u> </u>			
3	ROUNDUP PRO	2.5 gal	200 EA							Glophosate 4+	\$24.25	/EA	\$4,850.00	<mark>)</mark>			
4	a. WEEDAR 64 (AQUATIC LABEL) (NO SUBS)	2.5 gal	15 EA						8 8 8 3			ÿ. ;;	333 S S				
	b. WEEDAR 64 (AQUATIC LABEL) (NO SUBS)	30 gal	10 EA										**************************************				
5	a. RODEO, AQUA CLEAR (RETURNARIA	2.5 gal	10 EA							Glophosate 5.4	\$30.75	/EA	\$307.50	)			
	b. RODEO, AQUA CLEAR (RETURNABLE CONTAINER)	30 gal	50 EA							Glophosate 5.4	\$355.50	/EA	\$17,775.00				
6	SONAR Q (NO SUBSITUTITIONS)	40 lb	30 EA							Comprison of	***************************************						
7	SONAR (A.S) (NO SUBSTITUTIONS)	1 gal	5 GL														
8	SILKEN, KINETIC	1 gal	150 GL														
9	SENCOR 75 TURF (NO SUBSTITUTIONS)	5 lb	4 EA														
10	MEC AMINE-D	2.5 gal	20 EA														
11	a. TRAN XIT GTA (NO SUBSTITUTIONS)	5 oz	10 EA														
	b. TRAN XIT GTA (NO SUBSTITUTIONS)	15 oz	2 EA														
12	MONUMENT 75WG (NO SUBSTITUTIONS)	5x5 gram	12 EA														
13	GARLON 4 (GENERICS ALLOWED)	2.5 gal	12 EA							Triclopyr 4	\$109.75	/EA	\$1,317.00	<mark>)</mark>			
14	a GARLON 3A (GENERICS ALLOWED)	2.5 gal	250 EA							Triclopyr 3	\$86.80	/EA	\$21,700.00	<mark>)</mark>			
	b GARLON 3A (GENERICS ALLOWED)	30 GAL	20 EA							Triclopyr 3	\$1,026.60	/EA	\$20,532.00	<mark>)</mark>			
15	PLATEAU (NO SUBSTITUTIONS)	2.5 gal	100 EA		\$302.50 /EA	\$30,250.00	)										
16	MILESTONE VM (NO SUBSTITUTIONS)	2.5 gal	40 EA														
	ESTIMATED PRIMARY AWARD TOTALS FOR HERBICIDES- NON AGENCY					\$0.00	)						\$48,399.00	)			\$0.00
	ESTIMATED AWARD TOTALS FOR HE	AGENCY															

SOE	IFB 11-2981CD ), FERTILIZER, HERBICIDES, and OTHEI CHEMICALS	R RELATE	ED AQUATIC		pecialties, Inc. wannee Ave 32008		Univar USA I 5051 L.B McI Orlanddo, FL	_eod Rd, Suite D		AlliGare LL0 13 N. 8th St Opelika, AL	reet		CWC Che 214 Simm Cloverdale		
ITEM	PRODUCT NAME	CONTAINER SIZE	EST. QTY.	ALTERNATE	UNIT PRICE	EXTENDED PRICE	ALTERNATE	UNIT PRICE	EXTENDED PRICE	ALTERNATE	UNIT PRICE	EXTENDED PRICE	ALTERNATE	UNIT PRICE	EXTENDED PRICE
FUNG	ICIDES					,,				1		-11			
1	ALIETTE WDG (GENERICS ALLOWED)	5.5 lb	5 EA	Fosetyl-Al	\$93.50 /E	A \$467.50									
	ESTIMATED PRIMARY AWARD FUNGIC	IDES				\$467.50	)								
INSEC	TICIDES														
1	ORTHENE	10 lb	10 EA		,										
2	a. AMDRO 1LB (NO SUBSTITUTIONS)	1 lb	10 LB												
2		25 lb 50 lb	20 EA 100 EA												
3	TOPCHOICE (NO SUBSTITUTIONS)	30 ID	100 EA												
4	TALSTAR F	1 gal	40 GL												
5	ALOFT LC SC (NO SUBSTITUTIONS)	64 oz	20 EA												
	ESTIMATED PRIMARY AWARD TOTALS NON AGENCY	S FOR INS	ECTICIDES-												
	ESTIMATED AWARD TOTALS FOR INSI	ECTICIDE	S- AGENCY												
ADJU'	VANTS & ADDITIVES														
1	DEFOAMER	1 quart	120 quart							Alligare Antifoam	\$4.35 /C	T \$522.00			
2	LOVELAND X-77 SPREADER	1 gal	500 GL							Alligard 90	\$6.95 /G	\$3,475.00			
3	PROMATE ACCURACY, WINDBRAKE, AIRTIGHT (NO SUBSTITUTIONS)	1 quart	2,000 quart												
	ESTIMATED PRIMARY AWARD TOTALS ADDITIVES	JUVANTS &									\$3,997.00	)			
	ESTIMATED GRAND TOTALS BY	Y AWARD		\$467.50			\$0.00			\$52,396.00	1		\$0.00		
	ESTIMATED GRAND TOTALS BY	AGENC	Y ITEMS		\$0.00			\$0.00			\$0.00			\$0.00	

Yellow Highlighted Items	= Primary Award	ESTIMATED YEARLY PRIMARY AWARD TOTAL:	\$510,949.97
Green Highlighted Items	= Agency Items	_	
		ESTIMATED YEARLY AGENCY ITEM AWARD TOTAL:	\$57,560.00
		_	
For all Non highlighted items showing	g under vendors		
name, this demonstrates a secondar	y vendor award.		
		ESTIMATED YEARLY GRAND AWARD TOTAL:	\$568,509.97